
Q1) Attempt ANY THREE of the following in about 100 words each: [15]

a) Draw a character sketch of Lushkov from the story ‘The Beggar’.

b) How did Skvortsov and Olga change the Mindset of Lushkov?

c) What is ‘black money’ and how it is produced?

d) How does ‘black money’ affect economy?

e) How did the Nightingale cause the red rose to blossom?

Q2) Attempt ANY THREE of the following in about 100 words each: [15]

a) What has Muhammad Yunus done to alleviate poverty in Bangladesh?

b) What is the connection between banking, democracy and peace as
seen in the life of Muhammad Yunus?

c) Describe the end of the journey in the poem ‘Up - Hill’?

d) How does the poet express the feeling of anxiety and expectation in
the poem ‘Up - Hill’?

e) How does the poet explain the significance of being calm in the poem
‘Stay Calm’?
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Q3) Attempt ANY TWO of the following: [20]

a) You have invited your new friend for your birthday party, Introduce
him/her to your parents and vice-versa. Write a dialogue.

b) Nita meets her friend Geeta after a long time. They discuss about their
career plans. Write a conversation using greetings and responses to
greetings.

c) What is a group discussion? Describe the elements of a group
discussion.

d) Develop a group discussion on the use of electric vehicles by
anticipating five arguments and probable responses to them from the
participants.

Q4) Attempt ANY FOUR of the following: [20]

a) Explain briefly the Interview Techniques.

b) Imagine that you are facing an interview for the post of ‘Assistant
Manager’ in a multinational company. Anticipate any five questions
and write your responses to them.

c) Imagine that you are a candidate for a campus interview; write answers
to the following questions.

i) Tell us about your educations qualification.

ii) How will you  contribute to us in promoting quality.

d) What is presentation? What are the types of it?

e) Write two expressions of each of the following while making a
presentation:

i) Opening remarks.

ii) Inviting questions.

f) Write a note on the ‘Language of presentations’.





Q1) A) Fill in the Blanks (5 Out of 7) : [5]

i) In Single Entry System, it is not possible to prepare :

a) A Trial Balance

b) A Trading and Profit and Loss Account

c) A Receipts and Payments Account

d) None of the Above

ii) An expense paid in advance is called as

a) General Expenses b) Prepaid Expenses

c) Unpaid Expenses d) All of the above

iii) Internal Liabilities are paid after the payment of _______ Liabilities

a) External Liabilities b) Trial Balance

c) Assets d) Credit

iv) Under piecemeal distribution, Realisation profit or Loss in
distributed in ___________ ratio.

a) Profit Sharing b) Gain

c) Loss d) None of the above
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v) GST is a _____ type of tax.

a) Direct

b) Indirect

c) Depends on the type of Goods and Services

d) None of the above

vi) Anticipate no profits and provide for all possible losses. This is
essence of __________ accounting principle.

a) Dual Aspect Principle b) Materiality Principle

c) Timeliness Principle d) Conservatism Principle

vii) H.R.A stands for

a) Human Resource Accounting

b) Human Relationship Audit

c) Human Profit Association

d) All of the above

B) Match the Pair (5 Out of 7) : [5]

Group ‘A’ Group ‘B’

i) Accounting Equation a) Year after year same methods
of valuation of assets is
followed

ii) Single Entry System b) An Indefinite Life Of Business

iii) Statement of Affairs c) Opening Capital Balance

iv) GST d) Record transactions measurable
only in Monitory Terms

v) Money Measurement e) Goods and Service Tax

Concept

vi) Consistency f) Assets = Capital + Liabilities

vii) Going Concern Concept g) Only one Effect of Every
Transaction
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Q2) Write Short Notes (Any 2 out of 4) : [10]

a) Statement of Affairs

b) Features of Single Entry System

c) Money Measurement Concept

d) Order of Payment, under piecemeal distribution.

Q3) Asha, Usha and Nisha were in Partnership sharing Profits and Losses in the
Ratio of 2:1:1 respectively. They decided to dissolve the business on
3lst December, 2018. On which date their Balance Sheet as follows :

Amount Assets Amount
Liabilities (Rs) (RS)

Capital A/C’s : Cash in Hand 20,000

Asha 2,00,000 Debtors 1,80,0000

Usha 1,10,000 Stock 1,70,000

Nisha 50,000 Plant and Machinery 1,30,000

General Reserve 40,000 Land and Buildings 3,10,000

Income Tax 20,000

Creditors 2,34,000

Bills Payable 1,56,000

Total 8,10,000 Total 8,10,000

The Assets were realized piecemeal as follows :

a) On 1st January, 2019 - Rs. 30,000

b) On 31st January, 2019 - Rs.4,22,000

c) On 15th February, 2019 - Rs. 1,64,000

d) On 15th March, 2019 - Rs. 1,16,000

It was agreed that cash should be distributed as and when realized. Dissolution
Expenses were originally provided for an estimated amount to Rs. 10,000.
The actual Expenses amounted to Rs. 6,000 spent on 15th March, 2019.

Prepare :

i) The Statement Showing Surplus Capital. [7]

ii) The Statement showing distribution of Cash. [8]
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Q4) Mr. Pratap maintains his Books by Single Entry System. His cash Book for
the year ended 31st March, 2019 was as follows : [15]

Summary of Cash Book

Receipts Amount Payments Amounts
(Rs.) (Rs.)

To Balance B/D 24,600 By Investment 4,000

To Sales 17,400 By Pratap’s Drawings 13,000

To Debtors 71,400 By Purchases 14,600

To Bills Receivables 30,600 By Creditors 57,800

To Interest 3,000 By Bills Payable 15,000

To Pratap’s Capital 20,000 By Wages 34,600

To Balance C/D 7,460 By Carriage Inward 2,700

By Postage 1,100

By Salaries 24,000

By Rent and Taxes 1,860

By Insurance 1,400

By Printing and Stationery 4,400

Total 1,74,460 Total 1,74,460

Particulars of Assets and Liabilities were as follows :

Assets and Liabilities 01.04.2018 31.03.2019

Investment 30,000 34,000

Stock 27,400 58,600

Debtors 42,000 50,000

Bills Receivables 28,000 36,000

Creditors 62,000 58,000

Bills Payable 14,000 18,000

Plant and Machinery 90,000 85,000

Furniture 7,000 6,200
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Adjustments :

a) A Provision of Rs. 2,500 was necessary on Debtors for Doubtful Debts.

b) Outstanding Wages were Rs. 3,000 and Outstanding Salary Rs. 1,400.

c) Insurance was paid for one year ending on 30th September, 2019.

d) An Advertising Bill was payable amounting to Rs. 800.

Prepare :

i) Statement of Affairs [7]

ii) Trading, Profit and Loss A/C for the year ended 31/03/2019 and
Balance Sheet as on that date. [8]





Q1) A) Fill in the Blanks (Any 5) : [5]

i) ________ is a tool of Economic analysis.

[Firm, Industry, Schedule, Profit]

ii) Maximum profit is the ______ goal of the firm.

[Social, Economical, Political, Religious]

iii) Cardinal Utility is measured in terms of _______.

[Kilogram, Utils, Quintal, Tons]

iv) Law of equi-marginal utility is based on _______ utility approach.

[Cardinal, Ordinal, Analytical, Essay]

v) The demand curve is a ________ sloping.

[Positive, Horizontal, Negative, Parallel to 'oy' axis]

vi) The functional relationship between input and out put is called _______.

[Demand function, Supply function, Cost function, Production
function]
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B) Match the following pairs. [5]

Group 'A' Group 'B'

i) Tool for Economic analysis a) Utils

ii) Non-economic goal b) Equations

iii) Utility c) Social responsibility

iv) Gossen's first Law d) Studies Individual Industries
and commodities

v) Micro Economics e) Law of diminishing marginal
utility

Q2) Explain the meaning and scope of Business Economics. [15]

Q3) What is indifference curve? Explain the characteristics of indifference curve.[15]

Q4) Explain the law of demand with diagram. [15]

Q5) Explain in detail the law of variable proportions. [15]

Q6) Write Short Notes on (Any Three) : [15]

a) Economic goals

b) Consumer equilibrium

c) Elasticity of demand

d) Supply

e) Internal economies


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àíZ àíZ àíZ àíZ àíZ 1) A) [aH$må`m OmJm ^am. (H$moUË`mhr 5) [5]

i) ........... ho Am{W©H$ {díbofUmMo gmYZ Amho.

[CÚmoJg§ñWm, CÚmoJ, AZwgy{M, Z\$m]

ii) _hÎm_ Z\$m ho CËnmXZg§ñWoMo ........... Y¡æ` Amho.

[gm_m{OH$, Am{W©H$, amO{H$`, Ym{_©H$]

iii) Cn`mo{JVm "...........' `m n[a_mUmV _moObr OmVo.

[{H$bmoJ«°_, ẁ{Q>ëg², pŠd§Q>b, Q>Z]

iv) g_gr_m§V Cn`mo{JVoMm {Z`_ .......... Ñï>rH$moUmda AmYm[aV Amho.

[A§H$Xe©H$, H«$_Xe©H$, {díbofUmË_H$, {Z~§YmË_H$]

v) _mJUrMm dH«$ ........... CVmamMm AgVmo.

[YZmË_H$, {jVrOg_m§Va, G$UmË_H$, 'oy' Ajmbm g_m§Va]

vi) AmXmZ Am{U àXmZ `mVrb H$m`m©Ë_H$ g§~§Ymbm ....... Ago åhUVmV.

[_mJUr \$bZ, nwadR>m \$bZ, IM© \$bZ, CËnmXZ \$bZ]
3 P.T.O.
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~) `mo½` OmoS>`m bmdm. [5]

JQ> "A' JQ> "~'

i) Am{W©H$ {díbofUmMo gmYZ A) ẁ{Q>ëg²

ii) Am{W©Ho$Îma Y¡æ` ~) g{_H$aU

iii) Cn`mo{JVm H$) gm_m{OH$ O~m~Xmar

iv) Jm°goZMm n{hbm {Z`_ S>) {d{eï> CÚmoJ Am{U KQ>H$m§Mm Aä`mg

v) gyú_bjr AW©emó B) KQ>Ë`m gr_m§V Cn`mo{JVoMm {Z`_

àíZ àíZ àíZ àíZ àíZ 2) ì`mdgm{`H$ AW©emómMm AW© Am{U ì`már ñnï> H$am. [15]

àíZ àíZ àíZ àíZ àíZ 3) g_d¥Îmr dH«$ åhUOo H$m`? g_d¥Îmr dH«$mMr d¡{eï> ò ñnï> H$am. [15]

àíZ àíZ àíZ àíZ àíZ 4) _mJUrMm {Z`_ ñnï> H$am. (AmH¥$Vrgh) [15]

àíZ àíZ àíZ àíZ àíZ 5) ~Xbm`m à_mUmMm {Z`_ g{dñVa ñnï> H$am. [15]

àíZ àíZ àíZ àíZ àíZ 6) Q>rnm {bhm (H$moUË`mhr VrZ) [15]

A) Am{W©H$ Ü ò̀ o

~) Cn^moŠË`mMo g§Vmofm{YŠ`

H$) _mJUrMr bd{MH$Vm

S>) nwadR>m

B) A§VJ©V ~MVr


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Q1) A) Fill in the blanks with suitable choice (Any five): [5]

a) The sum  which is repaid with interest is called __________.

i) Principal ii) Present value

iii) Interest iv) Amount

b) EMI stands for ___________.

i) Equal Money Instalment

ii) Equated Monthly Instalment

iii) Equal Monthly Instalment

iv) Easy Money Instalment

c) Shareholders received ________ on their capital.

i) Interest ii) Dividend

iii) Rent iv) Commission

d) SIP is _________ investment.

i) Lump Sum ii) Periodic

iii) Fixed iv) One Time

e) _______ is the selected set of data under consideration of study.

i) Sample ii) Population

iii) Census iv) All of the above

P.T.O.
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f) Data belongs to quantitative nature is called _______.

i) Variable ii) Attributes

iii) Both iv) None of the above

g) Average of all observations in a set of data is known as ________.

i) Mean ii) Median

iii) Mode iv) Standard Deviation

B) State whether following statement is True or False (Any Five): [5]

a) The period for which loan is taken is called Term.

b) Face Value is the value stated in share certificate.

c) NAV stands foe Net Asset Value.

d) Sampling method is less costly method of data collection.

e) The most repetitive observation in the data set is called as mode.

f) Range is calculated by L-S.

g) Upper value of class is called upper limit.

Q2) Solve any three from the following: [15]

a) Find out the simple interest on amount M M M M M 25,000 at 7.5% p.a. for 6
years.

b) Mr. Pradeep purchased a share of M M M M M 100 for M M M M M 115. The company
declared 18% dividend. Find the value of return.

c) Compute the mean and mode for the following data.

96, 98, 75, 80, 102, 100, 94, 75

d) Explain the term Stock Exchange.

e) What is Simple Random Sampling?
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Q3) Solve any three from the following: [15]

a) Find the compound interest on M M M M M 50,000 at 8% p.a. for 3 years.

b) Find out how many units of mutual funds has purchased by Sunil if he

invested M M M M M 20,000 in Reliance mutual fund with N.A.V. of M M M M M 40 each.

There is no entry load in transaction.

c) Find the mean of the following frequency distribution.

Weight (kg) 0-10 10-20 20-30 30-40 40-50

No. of students 1 3 10 4 2

d) What is SRSWR and SRSWOR?

e) Explain scope of statistics in management science.

Q4) Solve any three from the following: [15]

a) Find EMI on a loan of 5,00,000 to be paid in 2 years at 12% p.a. on the

outstanding amount at the beginning of each month.

b) Find the mode of the following frequency distribution:

Class 0-20 20-40 40-60 60-80 80-100

Frequency 4 8 9 20 9

c) Compute the range and the coefficient of range for the data given below:

100, 24, 14, 105, 21, 35, 106

d) State merits and demerits of mean.
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e) The frequency distribution of marks obtained by 100 students in F.Y.
B.COM. is given below:

Marks 0-19 20-39 40-59 60-79 80-99

No. of students 8 26 24 12 5

Answer the following questions:

i) State the type of classification.

ii) Find the class-mark of 2nd class.

iii) State the class boundaries of 3rd class.

iv) Find the class width of fourth class.

v) Find the number of students getting marks less than 79.

Q5) Solve the following: [10]

a) Find the median of the following frequency distribution: [5]

Marks 10-30 30-50 50-70 70-90 90-110

No. of Students 10 40 80 35 15

b) Compute standard deviation from the following data: [5]

2, 3, 5, 2, 7, 5, 7, 6, 11, 12

OR

b) Draw histogram of the following frequency distribution: [5]

Marks 0-10 10-20 20-30 30-40 40-50

No. of students 4 12 18 16 3


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Q1) Solve the following.

A) Select correct option for the following (Any five): [5×1=5]

i) Which of the following is not valid version of MS-Office?

a) Office XP b) Office Vista

c) Office 2007 d) None of above

ii) Borders can be applied to

a) Cells b) Paragraph

c) Text d) All the above

iii) Portrait and  Landscape are used in

a) Page Orientation b) Paper size

c) Page Layout d) All of above

iv) Which device is required for the Internet connection?

a) Joystick b) Modem

c) CD Drive d) NIC card

v) ALU is

a) Arithmetic Logic Unit b) Array Logis Unit

c) Application Logic Unit d) None of above

vi) MICR stands for

a) Magnetic Ink Character Reader

b) Magnetic Ink Code Reader

c) Magnetic Ink Cases Reader

d) None
P.T.O.
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B) Answer True or False of the following (any 5): [5×1=5]

i) Windows is a not an operating system.

ii) Page settings are used for setup of a page.

iii) Monitor is a Input device.

iv) Pen Drive is used for data storage.

v) Modem is used for Internet Connectivity.

vi) MCA free software is used as a Antivirus Software.

Q2) Attempt any Four of the following: [4×5=20]

a) Explain functions of Computer.

b) What is the difference between Virus and Antivirus.

c) Explain features of MS-Excel.

d) What is the difference between LAN and WAN.

e) What are the advantages of E-Commerce?

Q3) Attempt any Four of the following: [4×5=20]

a) What is operating system? Explain its types.

b) Explain one Input device amnd one output device in detail.

c) How to use spell check in MS-Word.

d) What is Web Browsers? Explain any one Web Browser.

e) Explain Functions of E-Commerce.

Q4) Write short notes on (any 5): [5×4=20]

a) Inkjet Printer.

b) Types of Viruses.

c) Mail Merge.

d) Charts in Powerpoint.

e) Network Topology.

f) Modem.


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à.à.à.à.à.1) Imbrb àíZ gmoS>dm : [5×1=5]

A) Imbrb n¡H$s ¶mo½¶ n¶m©¶ {ZdS>m :

i) Imbrbn¡H$s H$moUVo MS-Office ¶mo½¶ virsion Zmhr.

A) Office XP ~) Office Vista

H$) Office 2007 S>) None of above

ii) Borders dmnaë¶m OmVmV.

A) Cells ~) Paragraph

H$) Text S>) All the above

iii) Portrait and Landscape dmnabo OmVo.

A) Page Orientation ~) Paper Size

H$) Page Layout S>) All of above

iv) Internet H$Zo³eZgmR>r Hw$R>bm Device bmJVmo.

A) Joystick ~) Modem

H$) CD Drive S>) NIC card

v) ALU ho

A) Arithmetic Logic Unit ~) Array Logic Unit

H$) Application Logic Unit S>) None of above

vi) MICR åhUOo

A) Magnetic Ink Character Reader

~) Magnetic Ink Code Reader

H$) Magnetic Ink Cases Reader

S>) None
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~) Imbrbn¡H$s MyH$ qH$dm ~amo~a Vo {bhm. (H$moUVohr nmM) [5×1=5]

i) Windows hr Operating system Zmhr.
ii) Page settings ho page setup gmR>r dmnbo OmVo.
iii) Monitor hm input device Amho.
iv) Pendrive data storage gmR>r dmnabm OmVmo.
v) Internet connectivity gmR>r modem dmnbm OmVmo.
vi) MCA free software ho Antivirus software åhUyZ dmnbo OmVo.

à.à.à.à.à.2) nwT>rbn¡H$s H$moUVohr Mma àíZ gmoS>dm. [4×5=20]

A) Computer Mr H$m¶} {bhm.
~) Virus Am{U antivirus ‘Yrb ’$aH$ ñnï> H$am.

H$) MS-Excel Mr d¡{eï>o ñnï> H$am.

S>) LAN Am{U WAN ‘Yrb ’$aH$ ñnï> H$am.

B) E-Commerce Mo ’$m¶Xo H$moUVo?

à.à.à.à.à.3) nwT>rbn¡H$s H$moUVohr Mma àíZ gmoS>dm. [4×5=20]

A) Operating system åhUOo H$m¶? Ë¶mMo àH$ma ñnï> H$am.
~) H$moUVmhr EH$ Input device d Output device ñnï> H$am.

H$) MS-Word ‘Ü¶o Spell check H$go dmnamdo.

S>) Web Browsers åhUOo H$m¶? Hw$R>bmhr EH$ Web browser ñnï> H$am.

B) E-Commerce Mr H$m¶} ñnîQ> H$am.

à.à.à.à.à.4) {Q>nm {bhm. (H$moUË¶mhr nmM) [5×4=20]

A) Inkjet Printer.

~) Types of Viruses.

H$) Mail Merge.

S>) Charts in Powerpoint.

B) Network Topology.

’$) Modem.


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Q1) a) Fill up the blanks: [7]

i) The place where an office is established is known as the _______.

ii) ________ is a group of people who are co-operating under the
direction of leadership for the accomplishment of a common end.

iii) ________ is a way of work which moves from one employee to
another and one department to another.

iv) _______ means converting hard copy or non-digital records into
digital format.

v) _____ is the oldest as well as the most common type of organisation.

vi) ________ management is a crucial aspect of survival for any
company.

vii) _______ can be either a tangible object of digital information which
has value to an organisation.

b) True or False: [7]

i) Committee organisation is useful for organisation.

ii) Record keeping is not a function of modern office.

iii) A noisy place is always an efficient office.

iv) Employee manual is also called as procedure manual.

v) Office is an information centre.

vi) Office is related work and not with place and person.

vii) Management is not a skill indealing with organisational problems.

P.T.O.
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Q2) a) State the characteristics of the office lighting. [4]

b) Explain the functions of modern office. [10]

Q3) a) State the principles of office layout. [7]

b) Explain the principles of record management. [7]

Q4) a) State the significance of Flow of Work. [4]

b) Explain the types of office organisation. [10]

Q5) a) Explain the elements of office management. [7]

b) Explain the aims of scientific office management. [7]

Q6) a) State the characteristics of office work. [4]

b) Explain the utility of Digitalisation of records. [10]

Q7) a) State the types of manuals. [7]

b) Explain the difficulties of Flow of Work. [7]

Q8) Write short notes (Any Two): [14]

a) Functions of Office Management.

b) Employee Manual.

c) Needs of Records Management.

d) Kinds of artificial ventilation.





3[5952]-106

Total No. of Questions : 8]

[5952]-106
F.Y. B.Com.
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(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) àíZ H«$. 1 Am{U àíZ H« . 8 gº$sMo AmhoV.
2) àíZ H«$‘m§H$ 2 Vo àíZ H«$. 7 ‘Yrb H$moUVohr VrZ àíZ gmoS>dm.
3) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.
4) g§X^m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nhmdr.

PA-1721

à.à.à.à.à.1) A) [aH$må¶m OmJm ^am. [7]

i) Á¶m {R>H$mUr ì¶mdgm{¶H$ H$m¶© nma nmS>br OmVmV Ë¶m {R>H$mUmg ................... åhUVmV.
ii) .................. åhUOo ì¶º$s¨Mm Agm g‘wXm¶ H$s, Omo nwT>mè¶mZo {Xboë¶m AmXoemZwgma

gm‘mÝ¶ C{Ôï>çm§À¶m nyV©VoH$[aVm ghH$m¶m©Zo à¶ËZ H$aVmo.
iii) ................... hm H$m‘mMm EH$ ‘mJ© Amho, Omo EH$m H$‘©Mmè¶mH$Sy>Z Xþgè¶mH$S>o Am{U

EH$ {d^mJmVyZ Xþgè¶m {d^mJmV OmV AgVmo.
iv) XñVEodOm§Mr Bbo³Q´>m°{ZH$ nÕVrZo àV V¶ma H$ê$Z amIyZ R>odÊ¶mg XñVEodOmMo ^m¡{VH$

ñdê$nmg ................. Ago åhUVmV.
v) ..................... hm g§KQ>ZoMm OwZm d gd©gm‘mÝ¶ àH$ma Amho.
vi) ................. ì¶dñWmnZ ho H$moUË¶mhr H§$nZrÀ¶m ApñVËdmgmR>r ‘hÎdnyU© ~m~ AgVo.
vii) ................ EH$ Va ‘yV© dñVy qH$dm A§H$sH$aU ‘m{hVr Agy eH$Vo Á¶mg g§ñWoMo

‘yë¶ AgVo.

~) MwH$ H$s ~amo~a Vo {bhm. [7]

i) g{‘Vr g§KQ>Z ho g§KQ>ZogmR>r Cn¶wº$ Amho.
ii) XâVa OVZ ho AmYw{ZH$ H$m¶m©b¶mMo H$m¶© Zmhr.
iii) Jm|JmQ> H$aUmao {R>H$mU ho Zoh‘rM EH$ H$m¶©j‘ H$m¶m©b¶ AgVo.
iv) H$‘©Mmar ‘m{hVr nwñVrHo$bmM H$m¶©nÕVr ‘m{hVrnwñVrH$m Agohr åhUVmV.
v) H$m¶m©b¶ ho ‘m{hVr H|$Ð AgVo.
vi) H$m¶m©b¶mMm g§~§Y H$m‘mer Amho, OmJm d ì¶º$ser Zmhr.
vii) ì¶dñWmnZ ho g§KQ>ZmË‘H$ g‘ñ¶m§Zm Vm|S> XoÊ¶mMo H$m¡eë¶ Zmhr.
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à.à.à.à.à.2) A) H$m¶m©b¶ àH$meì¶dñWoMr d¡{eï>ço {deX H$am. [4]

~) AmYw{ZH$ H$m¶m©b¶mMr H$m¶} ñnï> H$am. [10]

à.à.à.à.à.3) A) H$m¶m©b¶mÀ¶m A§VJ©V aMZoMr VËdo {deX H$am. [7]

~) XâVa ì¶dñWmnZmMr VËdo ñnï> H$am. [7]

à.à.à.à.à.4) A) H$m¶m©b¶rZ H$m¶©àdmhmMo ‘hËd gm§Jm. [4]

~) H$m¶m©b¶ g§KQ>ZoMo àH$ma ñnï> H$am. [10]

à.à.à.à.à.5) A) H$m¶m©b¶ ì¶dñWmnZmMo KQ>H$ {deX H$am. [7]

~) emñÌr¶ H$m¶m©b¶rZ ì¶dñWmnZmMo CÔoe ñnï> H$am. [7]

à.à.à.à.à.6) A) H$m¶m©b¶rZ H$m‘H$mOmMr d¡{eï>ço {deX H$am. [4]

~) XñVEodO g§JUmË‘H$ A§H$sH$aUmMr Cn¶wº$Vm ñnï> H$am. [10]

à.à.à.à.à.7) A) H$m¶m©b¶ ‘m{hVrnwpñVHo$Mo àH$ma {deX H$am. [7]

~) H$m¶©àdmhmVrb AS>MUr ñnï> H$am. [7]

à.à.à.à.à.8) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [14]

A) H$m¶m©b¶ ì¶dñWmnZmMr H$m¶©

~) H$‘©Mmar ‘m{hVrnwpñVH$m

H$) XâVa ì¶dñWmnZmMr JaO

S>) H¥${Ì‘ dm¶wdrOZmMo àH$ma


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3) Question No. 8 is compulsory.
4) Figures to the indicates full marks.

PA-1722 [Total No. of Pages : 4

SEAT No. :

Q1) A) Fill in the blanks: (Any 7) [7]
i) Fixed deposit in commercial bank can be done for a maximum

period of ________ years.
a) 5 years b) 7 years
c) 10 years d) 25 years

ii) _______ is validity period of cheque.
a) 4 months from the date of issue
b) 3 months from the date of issue
c) 1 month from the date of issue
d) Unlimited

iii) MICR means _____________.
a) Magnetic Ink Character Recognition
b) Metalic Ink Character Reader
c) Micro Ink Character Reader
d) Multiple Ink Character Reader

iv) Fixed deposit and recurring deposits are ___________.
a) Repayable on demand
b) Not Repayable
c) Repayable after death of depositor
d) None of the above

v) Fixed deposits have __________ facility.
a) Nomination facility
b) Nomination facility with the permission of Bank Chairman
c) Nomination facility by taking special permission from bank
d) Nomination facility on the day of closing

vi) _______ is the maximum limit per transaction in NEFT.
a) 1,00,000/- b) 50,000/-
c) 1,50,000/- d) 2,00,000/-

vii) Bank provide loan for _________.
a) Home b) Car
c) (a) and (b) both d) None of the above

P.T.O.
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viii) IFSC code includes _______ Digits.
a) 9 b) 15
c) 10 d) 11

ix) _____ is the minimum amount that can be transferred through
RTGS.
a) Two lakh b) Two and half lakh
c) Three lakh d) Five lakh

B) State the following statements are True or False (Any 7): [7]
i) Real Time Gross System is the Full Form of RTGS.
ii) Electronic Funds Transfer is the full form of EFT.
iii) Wrongful dishonour of cheque means dishonour of cheque by a

banker without any justifiable reason.
iv) The instruction to send money from one bank to another is called

mail transfer.
v) NEFT works on Domain Net settlement Principle.
vi) A Traveller cheque is drawn from one branch of a bank to another.
vii) The system through which the customer uses the electronic device

for banking services is E-Banking.
viii) Rs. 1 Crore is the amount limit for filling in the cheque.
ix) Private sector banks started to serve customers electronically in 1994.

Q2) a) Explain the meaning of Bank. [4]
b) Explain the structure of Indian Banking System. [10]

Q3) a) Explain the primary functions of a Bank. [7]
b) Explain the secondary functions of a Bank. [7]

Q4) a) Explain the procedure for opening of Deposit Account in a bank. [7]
b) State the Needs and Norms of Know Your Customer (KYC) [7]

Q5) a) Explain the meaning of Banker’s Cheque? [4]
b) Explain the methods of remittance. [10]

Q6) a) Explain functions of Commercial Banks. [7]
b) Explain types of Account - holders in Bank. [7]

Q7) a) Explain Advantages and Disadvantages of Electronic Funds Transfer
System. [7]

b) Explain evolution of Commercial Banks in Asia. [7]

Q8) Write short notes (any two): [14]
a) Reserve Bank of India.
b) Overdraft Facility.
c) NEFT and RTGS.
d) Non Resident of India.


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BANKING & FINANCE
115 (b) : Fundamentals of Banking - I
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(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70
gyMZm …- 1) àíZ H«$. 1 A{Zdm¶© AmhoV.

2) àíZ H«$. 2 Vo àíZ H«$. 7 ‘Yrb H$moUVohr VrZ àíZ gmoS>dm.
3) àíZ H«$. 8 A{Zdm¶© AmhoV.
4) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.
5) g§X^m©gmR>r ‘wi B§J«Or àíZn{ÌH$m nhmdr.

PA-1722

à.à.à.à.à.1) A) [aH$må¶m OmJm ^am. (H$moUË¶mhr gmV) [7]
i) dm{UÁ¶ ~±Ho$V ‘wXV R>od OmñVrV OmñV ................... H$mbmdYr n¶ªV H$aVm ¶oVo.

A) 5 df© ~) 7 df©
H$) 10 df© S>) 25 df©

ii) YZmXoemMm d¡Ym{ZH$ H$mbmdYr ................ Amho.
A) Omar Ho$ë¶mÀ¶m VmaIonmgyZ 4 ‘{hZo
~) Omar Ho$ë¶mÀ¶m VmaIonmgyZ 3 ‘{hZo
H$) Omar Ho$ë¶mÀ¶m VmaIonmgyZ 1 ‘{hZm
S>>>) A‘¶m©{XV

iii) E‘ Am¶ gr Ama åhUOo .....................
A) ‘°¾o{Q>H$ B§H$ H°$ao³Q>a [aH${¾eZ ~) ‘oQ>m{bH$ B§H$ H°$ao³Q>a [aS>a
H$) ‘m¶H«$mo B§H$ H°$ao³Q>a [aS>a S>) ‘pëQ>nb B§H$ H°$ao³Q>a [aS>a

iv) ‘wXV R>od Am{U AmdVu R>od åhUOo ..................
A) ‘mJUrZwgma naV’o$S> ~) naV’o$S> H$aÊ¶m¶mo½¶ Zmhr
H$) R>odrXmamÀ¶m ‘¥Ë¶wZ§Va naV’o$S> S>) darbn¡H$s H$mhrhr Zmhr

v) ‘wXV R>odt‘Ü¶o ............... gw{dYm AgVo.
A) Zm‘m§H$Z gw{dYm
~) ~±H$ AÜ¶jm§À¶m nadmZJrZo Zm‘{ZX}eZ gw{dYm
H$) ~±Ho$H$Sy>Z {deof nadmZJr KoD$Z Zm‘{ZX}eZ gw{dYm
S>) ~§XÀ¶m {Xder Zm‘m§H$Z gw{dYm

vi) NEFT ‘Ü¶o àË¶oH$ ì¶dhmamMr H$‘mb ‘¶m©Xm ................. Amho.
A) 1,00,000/- ~) 50,000/-
H$) 1,50,000/- S>) 2,00,000/-

vii) ~±H$ ................ gmR>r H$O© nwa{dVo.
A) J¥h ~) JmS>r
H$) (A) Am{U (~) XmoÝhr S>) darbn¡H$s Zmhr
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viii) IFSC H$moS>‘Ü¶o ................... A§H$ AmhoV.
A) 9 ~) 15
H$) 10 S>) 11

ix) RTGS Ûmao hñVm§VarV H$aVm ¶oUmar {H$‘mZ a¸$‘ ........................ Amho.
A) XmoZ bmI ~) AS>rM bmI
H$) VrZ bmI S>) nmM bmI

~) Imbrb {dYmZo MyH$ H$s ~amo~a Vo gm§Jm. (H$moUVohr gmV) [7]
i) [aAb Q>mB©‘ J«m°g {gñQ>r‘ ho Ama.Q>r.Or.Eg. Mo nyU© ê$n Amho.
ii) Bbo³Q´>m{ZH$ ’§$S> Q´>mÝg’$a ho BE’$Q>r Mo nyU© ê$n Amho.
iii) H$moUË¶mhr Ý¶m¶ H$maUm{edm¶ YZmXoemMm AZmXa H$aUo ¶mg YZmXoemMm XmofnyU© AZmXa

Ago åhUVmV.
iv) EH$m ~±Ho$H$Sy>Z Xþgè¶m ~±Ho$V n¡go nmR>{dÊ¶mÀ¶m gwMZog ‘ob Q´>mÝg’$a åhUVmV.
v) NEFT S>mo‘oZ ZoQ> goQ>b‘|Q> VËdmda H$m¶© H$aVo.
vi) Omo ~±Ho$À¶m EH$m emIoZo Xþgè¶m emIoda H$mT>bobm AgVmo Ë¶mg àdmgr YZmXoe åhUVmV.
vii) J«mhH$ Á¶m ì¶dñWo‘m’©$V ~±H$ godm g§~§Yr ì¶dhma H$aUogmR>r Bbo³Q´>m°{ZH$ gmYZm§Mm dmna

H$aVmo Vo gmYZ åhUOo B©-~°qH$J AgVo.
viii) MoH$ ^aÊ¶mgmR>r 1 H$moQ>r ê$. aH$‘oMr ‘¶m©Xm Amho.
ix) ImOJr joÌmVrb ~±H$m§Zr J«mhH$m§Zm Bbo³Q´>m°{ZH$ ‘mÜ¶‘mVyZ godm XoÊ¶mg 1994 ‘Ü¶o

gwê$dmV Ho$br.

à.à.à.à.à.2) A) ~±H$ åhUOo H$m¶? [4]
~) ^maVmVrb ~±H$ àUmbrMr aMZm g{dñVa ñnï> H$am. [10]

à.à.à.à.à.3) A) ~±Ho$Mr àmW{‘H$ H$m¶© ñnï> H$am. [7]
~) ~±Ho$Mr Xþæ¶‘ H$m¶© ñnï> H$am. [7]

à.à.à.à.à.4) A) ~±Ho$V R>od ImVr CKS>Ê¶mMr nÕVr ñnï> H$am. [7]
~) Ho$dm¶gr (KYC) Mr JaO Am{U {Z¶‘ ñnï> H$am. [7]

à.à.à.à.à.5) A) ~±H$g© MoH$ åhUOo H$m¶? [4]
~) ~±Ho$‘m’©$V n¡go nmR>{dÊ¶mÀ¶m nÕVr ñnï> H$am. [10]

à.à.à.à.à.6) A) ì¶mnmar ~±H$m§Mr H$m¶© ñnï> H$am. [7]
~) ImVoYmaH$mMo àH$ma ñnï> H$am. [7]

à.à.à.à.à.7) A) Bbo³Q´>m°{ZH$ ’§$S> Q´>m§g’$a nÕVrMo ’$m¶Xo Am{U VmoQ>o ñnï> H$am. [7]
~) Am{e¶mVrb ~±H$ ì¶dgm¶mMr CËH«$m§Vr WmoS>³¶mV ñnï> H$am. [7]

à.à.à.à.à.8) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [14]
A) [aPd© ~±H$ Am°’$ B§{S>¶m
~) A{YH$f© gdbV
H$) NEFT Am{U RTGS
S>) A{Zdmgr ̂ maVr¶


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1) All Questions are compulsory.
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4) Figures to the right indicate full marks.
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SEAT No. :

Q1) Write the answers of following questions in 20 words (Any Eight): [16]
a) Write the definition of Commercial Geography.
b) Give any two application of Commercial Geography.
c) Give any two examples of secondary economic activity.
d) What is meant by primary economic activity?
e) In which economic activity, fishing, mining and agricultural activities are

included?
f) Give any two examples of non-renewable energy resources.
g) Give any two causes of deforestation.
h) What is a renewable resource?
i) State any two advantages of optimum population.
j) Define Migration.

Q2) Write a short note in about 50 words each (Any Three): [18]
a) Approaches of Commercial Geography.
b) Secondary economic activity.
c) Renewable resources.
d) Over population.

Q3) Write the answers of following questions in 100 words (Any Two): [16]
a) Explain Equatorial evergreen forest.
b) Write the nature, scope and importance of commercial geography.
c) Give the advantages of migration.

Q4) Write the answers of following questions in 300 words (Any one): [20]
a) Elaborate the physical and cultural factors affecting human economic activities.
b) State the characteristics of Indian population.


P.T.O.
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115 C : ELEMENTS OF COMMERCIAL GEOGRAPHY - I
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(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ Amho.
2) Amdí¶H$ VoWo gw~H$ AmH¥$Ë¶m H$mT>mì¶mV.
3) ZH$mem ñQ>opÝgb dmnaÊ¶mg nadmZJr Amho.
4) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.

PA-1723

à.à.à.à.à.1) Imbrb àíZm§Mr àË¶oH$s 20 eãXm§V CÎmao {bhm. (H$moUVohr AmR>) [16]
A) ì¶mnmar ŷJmobmMr ì¶m»¶m {bhm.
~) ì¶mnmar ŷJmobmMo H$moUVohr XmoZ Cn¶moJ gm§Jm.
H$) {ÛVr¶ loUrÀ¶m ì¶dgm¶mMr H$moUVrhr XmoZ CXmhaUo Úm.
S>) àmW{‘H$ loUrMo Am{W©H$ ì¶dgm¶ åhUOo H$m¶?
B) ‘mgo‘mar ImZH$m‘ d eoVr ho ì¶dgm¶ H$moUË¶m Am{W©H$ loUrÀ¶m ì¶dgm¶mV g‘m{dï> hmoVmVm?
’$) AnwZZ©{dH$aUr¶ D$Om© gmYZ g§nÎmrMr H$moUVohr XmoZ CXmhaUo Úm.
¶) O§Jbm§À¶m èhmgmMr XmoZ H$maUo Úm.
a) nwZZ©{dH$aUr¶ gmYZg§nÎmr åhUOo H$m¶?
b) n¶m©á bmoH$g§»¶oMo H$moUVrhr XmoZ ’$m¶Xo gm§Jm.
d) ñWbm§VamMr ì¶m»¶m {bhm.

à.à.à.à.à.2) Imbrb àíZm§Mr àË¶oH$s 50 eãXm§V {Q>nm {bhm. (H$moUË¶mhr VrZ) [18]
A) ì¶mnmar ŷJmobmÀ¶m Aä¶mg nÕVr
~) {ÛVr¶H$ Am{W©H$ loUrMo ì¶dgm¶
H$) nwZZ©{dH$aUr¶ gmYZ g§nXm
S>) A{V[aº$ bmoH$g§»¶m

à.à.à.à.à.3) Imbrb àíZm§Mr àË¶oH$s 100 eãXm§V CÎmao {bhm. (H$moUË¶mhr XmoZ) [16]
A) {dfwdd¥Îmr¶ gXmharV O§Jbm§Mo dU©Z H$am.
~) ì¶mnmar ŷJmobmMo ñdê$n ì¶már d ‘hËd {bhm.
H$) ñWbm§VamMo ’$m¶Xo gm§Jm.

à.à.à.à.à.4) Imbrb àíZm§Mr àË¶oH$s 300 eãXm§V CÎmao {bhm. (H$moUVohr EH$) [20]
A) ‘mZdr Am{W©H$ {H«$¶m§da n[aUm‘ H$aUmao àmH¥${VH$ d gm§ñH¥${VH$ KQ>H$ {dñVmamZo {bhm.
~) ^maVr¶ bmoH$g§»¶oMr d¡{eï²>¶o g§mJm.





Total No. of Questions : 8]

[5952]-109
F. Y. B.Com.

115-D : DEFENCE ORGANIZATION AND MANAGEMENT IN INDIA - I
(2019 Pattern) (Semester - I)

Time : 3 Hours] [Max. Marks : 70
Instructions to the candidates:

1) Question No. 1 and 8 are compulsory.
2) Answer any three from question No. 2 to 7.
3) Figures to the right indicate full marks.

PA-1724 [Total No. of Pages : 4

SEAT No. :

Q1) A) Fill up the blanks/Multiple choice question: [14]
i) Army is organized in to __________ commands.

a) Six b) One
c) Seven d) Five

ii) An army division is the ___________ striking force in the field.
a) Small b) Largest
c) Big d) Old

iii) ______ is the Full form of NCC.
a) National Commando Corps
b) National Cadet Corps
c) National Community Corps
d) National College Corps

iv) The Indian Air Force is Headed by the _________ with it
Headquarters.
a) Chief of the Air Staff b) Chief of the Navel Staff
c) Chief of the Army Staff d) Defence Minister

v) Lieutenant General is equivalent to _________ of Indian Navy.
a) Defence Minister b) Vice Admiral
c) Chief of the Army Staff d) Air Chief Marshall

vi) The Royal Indian Navy was redesigned as ________ on 2 January.
a) Indian Navy 1950 b) Indian Navy 1947
c) Indian Navy 1960 d) Indian Navy 1945

vii) Indian Naval ships were deployed for action for the first time in the
liberation of ___________.
a) Mumbai b) Goa

c) Kochin d) Vishakhapatnam

P.T.O.
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B) True and False Type Question:

i) The Indian Coast Guard was established in 18 August 1978.

(True/False)

ii) The Indian Home Guard is an Indian paramilitary police force.

(True/False)

iii) National Cadets Corps (NCC) day is celebrated every year on the
fourth Sunday in the month of November.

(True/False)

iv) The State Reserve Police Force or SRPF was raised on 6th March,
1948 in Maharashtra.

(True/False)

v) Army day is celebrated on 15th January in every year in India.

(True/False)

vi) Navy day is celebrated on 4th December in every year in India.

(True/False)

vii) Air force day is celebrated on 8 October in every year in India.

(True/False)

Q2) Discuss the functions of Higher Defence Organization. [14]

Q3) Explain the role of Indian Air Force during war. [14]

Q4) Explain in detail modernization programme of Indian Navy. [14]

Q5) Discuss the functions of Central Reserve Police Force (CRPF). [14]

Q6) State the role of Territorial Army in maintain national security. [14]

Q7) Discuss the power of president in relation to the armed forces. [14]

Q8) Write short notes on (any two): [2×7=14]
a) Chief of Staff Committee.

b) State Reserve Police Force.

c) Ministry of Defence.


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gyMZm …- 1) àíZ 1 bm d àíZ 8 A{Zdm¶© Amho.
2) àíZ 2 Vo àíZ 7 n¡H$s H$moUVohr VrZ àíZ gmoS>dm.
3) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.

PA-1724

à.à.à.à.à.1) A) [aH$må¶m OmJm ^am./~hþ n¶m©¶r àíZ. [14]

i) ^maVr¶ ñWbgoZMo EHy$U ................ H$‘m§S²> AmhoV.
A) ghm ~) EH$
H$) gmV S>) nmM

ii) ñWbgoZoMo {S>ìhOZ ho Ë¶m joÌmVrb ............. C„oI{Z¶ goZmXb Amho.
A) bhmZ ~) gdm©V ‘moR>r
H$) ‘moR>r S>) OwZr

iii) .................. ho EZgrgr Mo nyU© ê$n Amho.
A) amîQ´>r¶ H$‘m§S>mo H$moAa ~) amï´>r¶ N>mÌ goZm
H$) amï´>r¶ gm‘m{OH$ H$moAa S>) amîQ´>r¶ H$m°boO H$moAa

iv) ^maVr¶ hdmB© XbmMo ZoV¥Ëd ................... ho hdmB©Xb ‘w»¶mb¶mVyZ H$aVmV.
A) hdmB©Xb à‘wI ~) Zm¡Xb à‘wI
H$) ñWbgoZm AÜ¶j S>) g§ajU‘§Ìr

v) ^maVr¶ ñWbgoZoVrb boßQ>Z§Q> OZab ho nX ^maVr¶ Zm¡XbmÀ¶m ................... g‘H$j
nX Amho.
A) g§ajU‘§Ìr ~) CnZm¡goZm AÜ¶j
H$) Mr’$ Am°’$ Am‘r© ñQ>m’$ S>) EAa {M’$ ‘me©b

vi) am°¶b B§{S>¶Z ZoìhrMr nwZa©MZm hr ................ 2 OmZodmar amoOr H$aÊ¶mV Ambr.
A) ^maVr¶ Zm¡Xb 1950 ~) ^maVr¶ Zm¡Xb 1947$
H$) ^maVr¶ Zm¡Xb 1960 S>) ^maVr¶ Zm¡Xb 1947

vii) ^maVr¶ Zm{dH$ OhmOo n{hë¶m§Xm ................... bT>mB©V bT>Ê¶mgmR>r g‚m Pmbr.
A) ‘§w~B© ~) Jmodm$
H$) H$moMrZ S>) {demImnQ²>Q>U‘²
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~) MwH$ H$s ~amo~a Vo {bhm.
i) ^maVr¶ VQ>ajH$ XbmMr ñWmnZm 18 Am°JñQ> 1978 amoOr Pmbr.

MwH$/~amo~a
ii) ^maVr¶ hmo‘ JmS>© ho EH$ Xþæ¶‘ nmo{bg goZmXb Amho.

MwH$/~amo~a
iii) amï´>r¶ N>mÌgoZm {XZ hm Xadfu Zmoìh|~a ‘{hÝ¶mÀ¶m Mm¡Ï¶m a{ddmar gmOam Ho$bm OmVmo.

MwH$/~amo~a
iv) amÁ¶ amIrd nmo{bg Xb ho 6 ‘mM© 1948 amoOr ‘hmamï´>mV CX¶mg Ambo.

MwH$/~amo~a
v) ^maVr¶ ñWbgoZm {Xdg hm Xadfu 15 OmZodmar amoOr gmOam Ho$bm OmVmo.

MwH$/~amo~a
vi) ^maVr¶ Zm¡Xb {Xdg hm Xadfu 4 {S>g|~a amoOr gmOam Ho$bm OmVmo.

MwH$/~amo~a
vii) ^maVr¶ hdmB© Xb {Xdg hm Xadfu 8 Am°³Q>mo~a amoOr gmOam Ho$bm OmVmo.

MwH$/~amo~a

à.à.à.à.à.2) CƒñV[a¶ g§ajU g§KQ>ZoMr H$m¶©o ¶mda MMm© H$am. [14]

à.à.à.à.à.3) ^maVr¶ hdmB© XbmMr ¶wÕ H$mimVrb ŷ{‘H$m ñnï> H$am. [14]

à.à.à.à.à.4) ^maVr¶ Zm{dH$ XbmÀ¶m AmYw{ZH$sH$aU H$m¶©H«$‘ g{dñVa ñnï> H$am. [14]

à.à.à.à.à.5) H|${Ð¶ amIrd nmo{bg XbmMr H$m¶} ¶mda MMm© H$am. [14]

à.à.à.à.à.6) amï´>r¶ gwajm ì¶dñWmnZmVrb àmXo{eH$ goZmXbmMr ŷ{‘H$m gm§Jm. [14]

à.à.à.à.à.7) amï´>nVrMo goZmXbm§À¶m g§X^m©Vrb A{YH$ma ¶mda MMm© H$am. [14]

à.à.à.à.à.8) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [2×7=14]
A) goZmÜ¶jm§Mr g{‘Vr
~) amÁ¶ amIrd nmo{bg Xb
H$) g§ajU ‘§Ìmb¶


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Instructions to the candidates:

1) Q. No. 1 and Q. No. 8 are compulsory.
2) Solve any Three questions from Q. No.  2 to Q. No. 7.

PA-1725

Q1) a) Fill in the blanks : [7]
i) _____ Plays an equalizing role as a welfare factor in capitalistic

economy.
ii) In _____ each works for all and all work for each.
iii) I.C.A. (International Co - operative alliance) was founded by I.C.A.

congress had in London in  ______.
iv) Gorewalla committee was appointed for ____ reforms.
v) The maclegan committee submitted the report in ______.
vi) The first Co-operative law in India was enacted in the year _____.
vii) National Co-operative Development corporation (N.C.D.C.) was

set up in ______.

b) True or False [7]
i) The Birth of Co-operative movement is in India.
ii) Robert owen is the father of Co-operative movement in the world.
iii) The headquarters of I.C.A. Was situated at Geneva.
iv) Vaikunth Mehta National Institute of Co-operation and management

is Situated at Mumbai.
v) Co-operative principles are accepted by I.C.A. in Manchester.
vi) Co-operative values are based on self help, self responsibility

democracy and equality.
vii) Co-operative societies are formed for profit maximisation.

SEAT No. :

P.T.O.
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Q2) State the problems and challenges faced by Co-operative sector. [14]

Q3) State the strength and weakness of Co-operative movement. [14]

Q4) State briefly the contribution made by different leaders in Co-operative
movement in India. [14]

Q5) Discuss the recommendations made by Fedrick Nicholson report in 1904.[14]

Q6) What is Co-operative movement? State the current scenario of Co-operative
movement in India. [14]

Q7) State the role of central government and state government in Co-operative
movement. [14]

Q8) Write short notes (Any two) [14]
a) Scope of Co-operative
b) Development of Co-operative movement in pre-independence period.
c) Development of Co-operative movement in Maharashtra.
d) Distinguish between Co-operative and capitalism


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(_amR>r ê$nm§Va)
doi : 2½ Vmg]                      [EHy$U JwU : 70

gyMZm : 1) àíZ H«$. 1 d àíZ H«$. 8 gmoS>{dUo Amdí`H$ Amho.

2) àíZ H«$. 2 Vo àíZ H«$. 7 n¡H$s H$moUVohr 3 àíZ gmoS>dm.

PA-1725

àíZ 1) A) [aH$må`m OmJm ^am. [7]
i) ............... Mr ŵ{_H$m hr g_mZ ŵ{_H$m ^m§S>dbemhr AW©ì`dñWoV H$ë`mU

joÌmMr ŵ{_H$m AgVo.

ii) .......... _Ü ò àË òH$mZo gdm©gmR>r Am{U gdmªZr àË òH$mgmR>r H$m ©̀ _hËdmMo AgVo.

iii) Am§Vaamï´>r` ghH$mar narfX Mo ñWmnZm b§S>Z_Ü ò ............... `m df© Pmbr.

iv) Jmoaodmbm g{_Vr Mr {Z ẁŠVr ................ gwYmaUm H$arVm hmoVr.

v) _°ŠboJZ g{_VrZo Amnbm Ahdmb .............. `m dfu gmXa Ho$bm.

vi) ^maVmV nhrbm ghH$mar H$m`Xm ................ `m dfu ApñVËdmV Ambm.

vii) amï´>r` ghH$mar {dH$mg _hm_§S>i ................. `m dfu ñWmnZ Pmbo.

~) MwH$ {H$ ~amo~a Vo gm§Jm. [7]
i) ghH$mar MidirMm OÝ_ ^maVm_Ü ò Pmbm.

ii) OJmV am°~Q>© AmodoZ `m§Zm ghH$mar MidirMo OZH$ åhQ>bo OmVo.

iii) Am§Vaamï´>r` ghH$mar n[afX {O{Zìhm òWo Amho.

iv) d¡H§w$R>^mB© _ohVm amï´>r` ghH$mar à~§Y ì`dñWmnZ g§ñWm _w§~B© òWo Amho.

v) Am§Vaamï´>r` ghH$mar n[afXoZo ghH$mar VËdo _°MoñQ>a A{YdoeZmV pñdH$mabr.

vi) ghH$mar _wë ò _w»`V: ñd`:ghm`Vm ñd §̀ O~m~Xmar, bmoH$emhr Am{U g_mZVm
`mda AmYmarV AgVmV.

vii) ghH$mar g§ñWm A{YH$ Z\$m {_i{dÊ`mgmR>r ñWmnZ Ho$ë`m OmVmV.

P.T.O.
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àíZ 2) ghH$ma joÌmVrb g_ñ`m Am{U AmìhmZo ñnï> H$am. [14]

àíZ 3) ghH$mar MidirMr ~bñWmZo Am{U Xþ~©bVm gm§Jm. [14]

àíZ 4) ^maVmVrb ghH$mar MidirVrb {d{dY ZoË`m§Mo `moJXmZ g{dñVa ñnï> H$am. [14]

àíZ 5) \o$S´>rH$ {ZH$mobgZ g{_Vr 1904 _{Yb {d{dY {e\$maqgMr MMm© H$am. [14]

àíZ 6) ghH$mar Midi åhUOo H$m`? ^maVmVrb ghH$mar MidirMr AbrH$S>rb pñWVr gm§Jm.[14]

àíZ 7) ghH$mar MirdirVrb Ho$ÝÐ emgZ Am{U amÁ` emgZmMr ŷ{_H$m ñnï> H$am. [14]

àíZ 8) WmoS>Š`mV {Q>nm {bhm. (H$moUË`mhr XmoZ) [14]

A) ghH$mamMr ì`már.

~) ñdmV§Í`nyd© H$mimVrb ghH$mar MidirMm {dH$mg.

H$) _hmamï´>mVrb ghH$mar MidirMm {dH$mg.

S>) ghH$ma Am{U ^m§S>dbemhr `m_{Yb \$aH$ gm§Jm.





Q1) A) Fill in the blanks (Any 7) : [7]

i) Managerial economics is help to take ________ making.

a) controling

b) decision

c) direction

ii) Micro economics deal with ________ units.

a) Individual

b) Aggregates

c) Both a) & b)

iii) Opportunity cost also known as __________ cost.

a) Alternative

b) Total

c) Variable

iv) Managerial economics based on _________ economics.

a) Micro economics

b) Agriculture economics

c) Labour economics

Total No. of Questions : 8]
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2) Solve any Three questions from question no. 2 to 7.
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v) The price elasticity of demand for necessary good is ________.

a) Inelastic

b) Perfect elastic

c) High elastic

vi) Demand forecasting is an __________ of future demand.

a) Estimation

b) Non estimanion

c) Fixed

vii) When average revenue is increasing the total revenue is _______.

a) Decreasing

b) Constant

c) Increasing

viii) In long run all factors of production are _________.

a) Variable

b) Constant

c) Variable and constant.

ix) Production function is the functional relationship between ______
and _______.

a) Input-output

b) Output-Input

c) Input-cost

B) State whether the following statements are true or false (any 7) : [7]

i) Managerial economics is useful in business planning.

ii) Micro economics deals with small part of the economy.

iii) Indifference curve is not convex to the orgin.

iv) Total cost is equal to total fixed cost plus total variable cost.

v) Expert opinion is method is not method of demand forecasting.

vi) Total fixed cost do not change when the output is increase or
decrease.

vii) In the short-run production functions the all factors of productions
are variable.

viii) Cross elasticity is also known as income elasticity.

ix) Demand forecasting is an 'estimate of the future demand.
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Q2) Define managerial economics. Explain the nature and scope of managerial
economics. [14]

Q3) What is demand forecasting? Explain the methods of demand forecasting.
[14]

Q4) Define elasticity of demand. Explain the types of elasticity of demand. [14]

Q5) Explain in detail the various types of cost. [14]

Q6) What is indifference curve? Explain the features of indifference curve. [14]

Q7) State and explain the Law of Variable Proportions. [14]

Q8) Write short notes (any two) : [14]

a) Significance of managerial economics

b) Demand forecasting for new product.

c) Main characteristics of managerial economics.

d) Law of marginal utility.


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gyMZm :

1) àíZ H«$_m§H$ 1 Am{U 8 A{Zdm ©̀.
2) àíZ H«$_m§H$ 2 Vo 7 n¡H$s H$moUVohr VrZ àíZ gmoS>dm.
3) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
4) g§X^m©gmR>r _yi B§J«Or àíZn{ÌH$m nhmdr.

PA-1726

àíZ àíZ àíZ àíZ àíZ 1) A) [aH$må`m OmJm ^am (H$moUË`mhr 7) … [7]

i) ì`dñWmnH$s` AW©emó .............. KoÊ`mg _XV H$aVo.

A) {Z §̀ÌU

~) {ZU©̀

H$) {Xem

ii) A§ebjr AW©emó ................ KQ>H$m§Mm Aä`mg H$aVo.

A) d¡̀ ŠVrH$

~) EHy$U

H$) d¡̀ ŠVrH$ Am{U EHy$U

iii) d¡H$ënrH$ IMm©bm ............... IM© Agohr åhUVmV.

A) n`m©̀ r

~) EHy$U

H$) ~XbVm

4 P.T.O.
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iv) ì`dñWmnH$s` AW©emó ho .............. AW©emómda AmYm[aV Amho.

A) A§ebjr AW©emó

~) H¥$fr AW©emó

H$) l_mMo AW©emó

v) OrdZmdí`H$ dñV§yÀ`m _mJUrMr qH$_V bdMrH$Vm hr ................. AgVo.

A) AbdMrH$

~) nyU© bdMrH$

H$) OmñV bdMrH$

vi) _mJUrMm nyd© A§XmO åhUOo .............. ^drî`H$mbrZ _mJUr hmò .

A) AnojrV

~) AZnojrV

H$) {ZürV

vii) Ooìhm gamgar àmár dmT>Vo Voìhm EHy$U àmár ............. hmoVo.

A) H$_r hmoVo

~) ñWra amhVo

H$) dmT>Vo

viii) {XK©H$mimV CËnmXZmMo gd© KQ>H$ ............ AgVmV.

A) ~XbVo

~) ñWra

H$) ~XbVo Am{U ñWra

ix) ................ Am{U .............. ̀ m§À`mVrb g§~§Ymbm CËnmXZ \$bZ Ago åhUVmV.

A) AmXmZ-àXmZ

~) àXmZ-AmXmZ

H$) AmXmZ-IM©
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~) Imbrb {dYmZo MyH$ H$s ~amo~a Vo gm§Jm (H$moUVohr 7) … [7]

i) ì`dñWmnH$s` AW©emó ho ì`dgm` {Z`moOZmgmR>r Cn ẁŠV Amho.

ii) A§ebjr AW©emó AW©ì`dñWoVrb gwú_ KQ>H$m§Mm Aä`mg H$aVo.

iii) g_d¥Îmr dH«$ _wi q~Xÿer ~{h©dH«$ ZgVmV.

iv) EHy$U IM© hm EHy$U ñWra IM© d EHy$U ~XbVm IM© `m§À`m ~oaOo g_mZ AgVmo.

v) Vkm§Mr _Vo hr _mJUrÀ`m nyd©A§XmOmMr nÕVr Zmhr.

vi) EHy$U ñWra IM© hm CËnmXZ dmT>Vo qH$dm H$_r Pmbo Var H$m`_ AgVmo.

vii) AënH$mbrZ CËnmXZ \$bZmV CËnmXZmMo gd© KQ>H$ ~XbVo AgVmV.

viii) N>oXH$ bdMrH$Vobm CËnÞ bdMrH$Vm Agohr g§~moYbo OmVo.

ix) _mJUrMm nyd©A§XmO åhUOo AnojrV ^drî`H$mbrZ _mJUr hmò .

àíZ àíZ àíZ àíZ àíZ 2) ì`dñWmnH$s` AW©emómMr ì`m»`m {bhm. ì`dñWmnH$s` AW©emómMo ñdén Am{U ì`már ñnï>
H$am. [14]

àíZ àíZ àíZ àíZ àíZ 3) _mJUrMm nyd©A§XmO åhUOo H$m`? _mJUrÀ`m nyU© A§XmOmÀ`m nÕVr ñnï> H$am. [14]

àíZ àíZ àíZ àíZ àíZ 4) _mJUrÀ`m bdMrH$VoMr ì`m»`m Úm. _mJUrÀ`m bdMrH$VoMo àH$ma ñnï> H$am. [14]

àíZ àíZ àíZ àíZ àíZ 5) IMm©Mo {d{dY àH$ma gdrñVa ñnï> H$am. [14]

àíZ àíZ àíZ àíZ àíZ 6) g_d¥Îmr dH«$ åhUOo H$m`? g_d¥Îmr dH«$mMr d¡{eîQ>o ñnï> H$am. [14]

àíZ àíZ àíZ àíZ àíZ 7) ~XbË`m à_mUmMm {Z`_ gm§Jm d ñnï> H$am. [14]

àíZ àíZ àíZ àíZ àíZ 8) WmoS>Š`mV {Q>nm {bhm (H$moUË`mhr XmoZ) … [14]

A) ì`dñWmnH$s` AW©emómMo _hËd

~) ZdrZ CËnmXZmgmR>r _mJUrMm nyd©A§XmO

H$) ì`dñWmnH$s` AW©emómMr à_wI d¡{eï>o

S>) {g_m§V Cn`moJrVoMm {gÕm§V


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Q1) A) Fill in the blanks (any seven). [7]

a) Which of the following is a type of e-commerce.

i) Computer business ii) Click only business

iii) Internet business iv) Key board business

b) Which of the following is an advantages of e-commerce.

i) Complaints quickly received

ii) Lower costs

iii) Small & large business compete

iv) All of the above

c) _______is the father of computer.

i) Herman Hollerith ii) Ada-Byron

iii) Blaise Poscal iv) Charles Babbage

d) The common name for a modulator demodulator is________.

i) Modem ii) Joiner

iii) Network iv) Connector

e) Super computer developed by Indian Scientist.

i) Vikram ii) Param

iii) IBM iv) Vishal

f) CPU is the_______of computer.

i) Brain ii) Ear

iii) Eye iv) All of the above
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g) The first computer virus is_______.

i) Blaster ii) Trojan horse

iii) Creeper iv) Wofer

h) HTTP stands for________.

i) Hyper Text transfer portal

ii) Hyper Text transfer protocol

iii) Hyper text transfer profile

iv) Hyper Text transfer profile

i) ________is the maximum limit in-transaction of NEFT.

i) 50000 ii) 100000

iii) 150000 iv) No limit

B) Write the following statements whether true or false (any seven). [7]

a) The internet & the world wide web are essentially the same thing.

b) Electronic fund transfers are less secure and more expensive for a
merchant than paper check payments & collections.

c) Google, Bing, Yahoo, gmail. MSN and AOL are all examples of
e-tailers.

d) One of the main benefits of wireless technology is mobility.

e) Information density in -e-commerce market make price & costs
less transparents

f) HTTP is a markup language.

g) E-commerce is the fastest growing form of commerce in the world.

h) Online classifieds are good examples of a consumer to consumer
e-commerce model.

i) Mobile commerce (M-commerce) technology is required for
consumer to consumer e-commerce transactions to take place.
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Q2) What is E-commerce? Explain the advantages and disadvantages of
E-commerce. [14]

Q3) What is EDI? Explain EDI components and EDI standards. [14]

Q4) What is internet? Explain the tools and services of internet. [14]

Q5) State the importance and functions of credit card. [14]

Q6) What is domain name system? Explain the procedure of registering an internet
domain. [14]

Q7) What is website? Explain the essential factors in designing an effective website.
[14]

Q8) Write short notes (Any two). [14]

a) Internet service provider.

b) B2B & C2 G.

c) Functions of Debit card.

d) Misuse of mobile.


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Q1) A) Fill in the blanks: [7]
i) Educational institute take ______ insurance policy.

(Term plan, group, whole life)
ii) Godown to godown clause is mentioned in _____ insurance.

(Fire, accident, marine)
iii) Insurance means a ______ between insurer and insurance company.

(Contract, transaction, business)
iv) Medical checkup is required for _______ insurance.

(accident, property, life)
v) In whole life policy amount of claim received to ______.

(insurer, employee, nominee)
vi) _____ clause describes the risks.

(perils, assignment, waiver)
vii) Insurance transfer the ________.

 (amount, risks, loss)

B) Write True or False. [7]
i) Fire insurance supports to international trade.
ii) Regular checkup of all security equipments are most important.
iii) Nomination is not necessary in life insurance.
iv) In India only one Government institute is working for life insurance.
v) In joint policy after death of one person, amount of claim is received

to other insurer.
vi) Group insurance is taken by individual person.
vii) Investment in share market is a pure or stable risk.

P.T.O.
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Q2) Explain the various types of life and general insurance. [14]

Q3) Explain the concept and principles of life insurance. [14]

Q4) Describe the concept and nature of fire insurance [14]

Q5) What is marine insurance? Explain the procedure of taking marine insurance
policy. [14]

Q6) Describe the nature and importance of life insurance. [14]

Q7) Explain the scope of insurance and career opportunities in insurance sector.
[14]

Q8) Writye short notes (Any Two): [14]

a) Reinstatment policy.

b) Features of fire insurance.

c) Miscellaneous clause in marine insurance.

d) Features of marine insurance.


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F.Y. B.Com.

116B : INSURANCE & TRANSPORT - I (INSURANCE)
(2019 Pattern) (Semester - I)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) àíZ H«$. 1 d àíZ H« . 8 gmoS>{dUo Amdí¶H$ Amho.
2) àíZ H«$. 2 Vo àíZ H«$. 7 ‘Yrb H$moUVohr VrZ àíZ gmoS>dm.
3) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.

PA-1728

à.à.à.à.à.1) A) [aH$må¶m OmJm ^am. [7]
i) e¡j{UH$ g§ñWm ............. {d‘m nm°{bgr KoVmV.

(‘wXVr, g‘wh, AmOrdZ)
ii) JwXm‘ Vo JwXm‘ ¶m H$b‘mMm C„oI ............ {då¶mV Amho.

(A¾r, AnKmV, gmJar)
iii) {d‘m åhUOo {d‘oXma Am{U {d‘m H§$nZr ¶m§À¶m‘Yrb ........... AgVmo.

(H$ama, ì¶dhma, ì¶dgm¶)
iv) ............ {då¶m‘Ü¶o d¡ÚH$s¶ VnmgUr ‘hÎdmMr Amho.

(AnKmV, ‘mb‘Îmm, OrdZ)
v) AmOrdZ {då¶m‘Ü¶o nm°{bgrMr a¸$‘ ................ bm {‘iVo.

({d‘oXma, H$m‘Jma, dmagXma)
vi) .......... H$b‘m‘Ü¶o OmoI‘rMo dU©Z AgVo.

(OmoIr‘, A{^hñVm§H$Z, ñdm{‘Ëd Ë¶mJ)
vii) {då¶m‘Ü¶o .............. hñVm§V[aV hmoVo.

(a¸$‘, OmoIr‘, VmoQ>m)

~) MwH$ AWdm ~amo~a {bhm. [7]
i) A¾r {d‘m hm Am§Vaamï´>r¶ ì¶mnmambm ghmæ¶ H$aVmo.
ii) gwajm CnH$aUm§Mr {Z¶{‘V VnmgUr H$aUo ‘hÎdmMo Amho.
iii) OrdZ {då¶m‘Ü¶o dmagZm§oX H$aUo Amdí¶H$ Zmhr.
iv) ^maVmV Am¶w{d©å¶mgmR>r ’$º$ EH$M gaH$mar g§ñWm H$m¶©aV Amho.
v) g§¶wº$ {d‘m nm°{bgr‘Ü¶o EH$m ì¶º$sMm ‘¥Ë¶y Pmë¶mZ§Va {då¶mMr a¸$‘ Xþgè¶m {d‘oH$ambm

{‘iVo.
vi) g‘wh {d‘m hm EH$ ì¶º$s KoVmo.
vii) ^mJ ~mOmamVrb J§wVdUyH$ hr ewÕ qH$dm pñWa OmoIr‘ Amho.
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à.à.à.à.à.2) OrdZ {d‘m Am{U gmYmaU {då¶mMo {d{dY àH$ma ñnï> H$am. [14]

à.à.à.à.à.3) OrdZ {då¶mMr g§H$ënZm Am{U VËdo ñnï> H$am. [14]

à.à.à.à.à.4) A¾r {då¶mMr g§H$ënZm Am{U ñdê$n {deX H$am. [14]

à.à.à.à.à.5) gmJar {d‘m åhUOo H$m¶? gmJar {d‘m nm°{bgr KoÊ¶mMr H$m¶©nÕVr ñnï> H$am. [14]

à.à.à.à.à.6) OrdZ {då¶mMo ñdê$n Am{U ‘hÎd {deX H$am. [14]

à.à.à.à.à.7) {då¶mMr ì¶már Am{U {d‘m joÌmVrb amoOJma g§Yr ñnï> H$am. [14]

à.à.à.à.à.8) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [14]

A) nyd©pñWVr ñWmnZm nm°{bgr.

~) A¾r {då¶mMr d¡{eï>¶o.

H$) gmJar {då¶mVrb BVa H$b‘o.

S>) gmJar {då¶mMr d¡{eï>¶o.


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2) Answer any 3 questions from Q.No. 2 to Q. No. 7.
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PA-1729 [Total No. of Pages : 4

SEAT No. :

Q1) A) Fill in the blanks (Any Seven): [7]
i) When seller and buyer spread over across the country, it is called

________ market.
(Local, National, Country)

ii) A public ware house is that, which is established by warehouse
corporation and regulated under the Government is know as ______
warehouse.
(Public, Government, Private)

iii) Market segmentation is purely based on _________ technique.
(Company satisfaction, Customer satisfaction, Government
satisfaction)

iv) Pricing policy is one of the important ________ management aspect
in organisation.
(Private, Marketing, National)

v) Sales promotion means any steps that are taken for the purpose of
obtaining or increasing ________.
(Prices, Sales, Discounts)

vi) Money market is a part of ______ market.
(Capital, Local, Foreign)

vii) _______ is a management process, through which it co-ordinate
with production and market of goods.
(Marketing, Purchases, Discount Allowed)

viii) Warehouse established by co-operative society is known as ______
warehouse.
(Government, Co-operative, Private)

ix) Trademark means the legal security provided by Registered Authority
to _______ trader for the product.
 (Individual, More, All)

P.T.O.
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B) True or False. (Any Seven): [7]

i) Multi purpose warehouse are used for storage of Agricultural Goods.

ii) Retailer purchases goods from manufacturer in small scale.

iii) Product life cycle means manufacturing of product and selling of
product.

iv) In money market foreign curries are traded.

v) Marketing is an economical and political process.

vi) Production policy is depends upon pricing policy of products.

vii) Customer satisfaction means sales promotion.

viii) Trademark is owned by Government.

ix) Market segmentation means distribution of goods.

Q2) What is meant by warehouse? State the different types of warehouse. [14]

Q3) What is market segmentation? Explain the process of market segmentation.[14]

Q4) What is price mix? Explain the varies techniques of price mix. [14]

Q5) What are the factors affecting to select the channels of Distribution. [14]

Q6) What are the various ways used by trader for sales promotion? [14]

Q7) What is place mix? Explain the importance of Place Mix. [14]

Q8) Short Note (Any two): [14]

a) Classification of market on the basis of capital market.

b) Importance of marketing in the view of manufacturer.

c) Qualities of good market segmentation.

d) Product mix.


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[5952]-114
First Year B.Com.

MARKETING AND SALESMANSHIP - I
116 (C) : Fundamentals of Marketing
(2019 Pattern) (Semester - I) (CBCS)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) àíZ H«$. 1 Am{U àíZ H« . 8 gº$sMo AmhoV.
2) àíZ H«$‘m§H$ 2 Vo àíZ H«$. 7 ‘Yrb H$moUVohr VrZ àíZ gmoS>dm.
3) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.
4) g§X^m©gmR>r ‘wi B§J«Or àíZn{ÍmH$m nmhmdr.

PA-1729

à.à.à.à.à.1) A) [aH$må¶m OmJm ^am. (H$moUË¶mhr gmV) [7]
i) O|ìhm {dH«o$Vo Am{U IaoXrXma Xoe^a {dIwabobo AgVmV V|ìhm Ë¶m ~mOmanoR>og ..............

~mOma Ago åhUVmV.
(ñWm{ZH$, amï´>r¶, Xoer)

ii) H$m¶ÚmZo ñWmnZ Pmboë¶m ‘hm‘§S>imMr ~m§Yboë¶m JwXm‘m§Zm .............. JwXm‘o Ago åhUVmV.
(gmd©O{ZH$, gaH$mar, ImOJr)

iii) H$moUË¶mhr ~mOmanoR> {d^mJUrMm ‘wi AmYma ................ ¶m VËdmda AmYm[aV Amho.
(H§$nUr g‘mYmZ, J«mhH$ g‘mYmZ, gaH$ma g‘mYmZ)

iv) qH$‘V YmoaU hr EH$ ............ ì¶dñWmnZmVrb AË¶§V ‘hËdmMr ~m~ hmo¶.
(ImOJr, {dnUZ, amï´>r¶)

v) {dH«$¶ d¥Õr åhUOo ........... dmT> KS>dyZ AmUÊ¶mgmR>r H$aÊ¶mV Ambobr Cnm¶¶moOZm hmo¶.
(qH$‘VrV, {dH«$sV, H$amV)

vi) ZmUo~mOma hm ................. ~mOmamMm EH$ {hñgm Amho.
(^m§S>db, ñWm{ZH$, {dXoer)

vii) .............. hr Aer ì¶dñWmnH$s¶ à{H«$¶m Amho H$s {OÀ¶mÛmao CËnmXrV dñVw d ~mOma
¶m§À¶mV g‘Ýd¶ gmYbm OmVmo.
({dnUZ, IaoXr, gwQ> XoUo)

viii) ghH$mar g§ñWm§Zr ~m§Yboë¶m JwXm‘m§Zm .............. JwXm‘o Ago åhUVmV.
(gaH$mar, ghH$mar, ImOJr)

ix) ì¶mnma {MÝh åhUOo H$m¶Xoera gwa{jVVm bm^bobr d .............. {dH«o$Ë¶mbm {‘imbobr
‘wÐm hmo¶.
(EH$mM, AZoH$, gd©)
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~) MyH$ H$s ~amo~a {bhm. (H$moUVohr gmV) [7]

i) ~hþCÔo{e¶ JwXm‘mV eoVmVrbr {d{dY ‘mb gmR>{dbm OmVmo.

ii) {H$aH$moi ì¶mnmar ho CËnmXH$mH$Sy>Z {H$aH$moi IaoXr H$aVmV.

iii) CËnmXZ {OdZMH«$ åhUOo CËnmXZ {Z{‘©Vr Am{U CËnmXZ {dH«$s hmo¶.

iv) ZmUo~mOmamV {dXoer ZmÊ¶m§Mr IaoXr {dH«$s Ho$br OmVo.

v) {dnUZ hr EH$ Am{W©H$ d amOH$s¶ à{H«$¶m Amho.

vi) CËnmXZ {ZpíMVr hr dñVwÀ¶m qH$‘V YmoaUmda Adb§~wZ AgVo.

vii) J«mhH$ g‘mYmZ åhUOoM {dH«$¶ d¥Õr hmo¶.

viii) ~moY{MÝh hr gaH$maMr ‘mb‘Îmm AgVo.

ix) ~mOmanoR> {d^mJUr åhUOoM dñVw§Mr {dVaU {d^mJUr hmo¶.

à.à.à.à.à.2) JwXm‘ åhUOo H$m¶? Ë¶m§Mo {d{dY àH$ma gm§Jm. [14]

à.à.à.à.à.3) ~mOmanoR> {d^mJUrMm AW© gm§JwZ, ~mOmanoR> {d^mJUrMr à{H«$¶m ñnï> H$am. [14]

à.à.à.à.à.4) qH$‘V {‘l åhUOo H$m¶? qH$‘V {‘lMr {d{dY V§Ì ñnï> H$am. [14]

à.à.à.à.à.5) dñVw {dVaU ‘mJm©À¶m {ZdS>rda n[aUm‘ H$aUmao {d{dY KQ>H$ ñnï> H$am. [14]

à.à.à.à.à.6) {dH«$¶ d¥ÕrMo {dVaH$m§gmR>rMo {d{dY ‘mJ© qH$dm àH$ma ñnï> H$am. [14]

à.à.à.à.à.7) ñWb {‘l åhUOo H$m¶? ñWb {‘lMo ‘hËd ñnï> H$am. [14]

à.à.à.à.à.8) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [14]

A) ~mOmanoR>m§Mo ^m§S>dbmZwgma dJuH$aU

~) CËnmXH$m§À¶m Ñï>rZo {dnUZm§Mo ‘hËd

H$) Mm§Jë¶m ~mOmanoR> {d^mJUrMo {d{dY JwU

S>) CËnmXZ {‘l


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SEAT No. :

Q1) A) Fill in the blanks (Any 7): [7]
i) In modern time all the process of Business entrepreneurship and in

marketing _______ is the most important element.
a) Producer b) Owner c) Customer

ii) ______ is an organized movement of citizens and government to
strengthen the rights and power of buyers in relation to sellers.
a) Conumer movement
b) Consumerism
c) Socialism

iii) The united Nations is an ______ organisation of Independent
Countries.
a) International b) National c) Local

iv) The consumer E-Education broadly relies upon the _________.
a) Telephone b) Internet c) Intercom

v) The beginning of the consumer movement seems to be started in
University of ________.
a) Mumbai b) Pune c) Delhi

vi) _______ is to educate and aware consumers about their rights.
a) Consumer Association
b) Consumer Education
c) Consumer Awareness

vii) A member of the state consumer Grievance Redressal Commission
can remain in office for up to _____ years age.
a) 60 b) 65 c) 70

viii) SWIFT means _____________.
a) Society for Worldwide Interbank Financial Telecommunication
b) Society for Worldwide Intercom Financial Telecommunication
c) Society for Worldwide Internet Financial Telecommunication

ix) Young Jun Chi 1, reported that the development of the internet in
the _______ century led to birth of an electronic market place.
a) 18th b) 19th c) 20th

P.T.O.
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B) State the statement whether “True or False”. (Any 7): [7]
i) Consumer protection is applicable to all the areas whether Private,

Public or Co-operative.
ii) These rights of consumers are related to safety, information, choice,

representation, redressal, education etc.
iii) Consumerism is not regarding defective products, dis-satisfactory

services and unfair trade practices.
iv) Consumer organization means educate and aware consumer about

their rights.
v) Bureau of Indian standards organize education utilization of

standards programmes in various educational institutes.
vi) The relation between consumer and manufactures improves because

of consumer movement.
vii) The provisions of the consumer protection act do not supplement

natural justice.
viii) Online shopping of the product through e-commerce has become

difficult.
ix) E-business affects the whole business and the chains in which it

operates.

Q2) Define the term ‘Consumerism’. Discuss in detail about the Evaluation of
Consumerism. [14]

Q3) Explain the scope and objectives of consumer protection. [14]

Q4) Define ‘Consumer Education’. Explain the need and importance of Consumer
Education. [14]

Q5) Discuss in detail about the role of ‘Media’ and ‘Education Institute’ in
Consumer Education. [14]

Q6) Define the term ‘Consumer’. Explain the features of Consumer Protection
Act, 1986. [14]

Q7) Define ‘E-Commerce’. Explain the need and Importance of E-Commerce.[14]

Q8) Write short note (any 2). [14]
a) Consumer rights
b) Voluntary organisation
c) Unfair trade practices
d) Importance of E-commerce


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[5952]-115
F.Y. B.Com.

116D : CONSUMER PROTECTION AND BUSINESS ETHICS - I
(2019 Pattern) (CBCS) (Semester - I)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) àíZ H«$. 1 Am{U àíZ H« . 8 gmoS>{dUo Amdí¶H$ Amho.
2) àíZ H«$‘m§H$ 2 Vo àíZ H«$. 7 ¶mn¡H$s H$moUVohr 3 àíZ gmoS>dm.
3) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nhmdr.

PA-1730

à.à.à.à.à.1) A) [aH$må¶m OmJm ^am. (H$moUË¶mhr gmV) [7]
i) AmYw{ZH$ H$mimV ì¶dgm¶, CÚmoOH$Vm Am{U {dnUZ ¶m gd© à{H«$¶m§‘Ü¶o .............. hm

gdm©V ‘hÎdmMm KQ>H$ Amho.
A) CËnmXH$ ~) ‘mbH$ H$) J«mhH$

ii) ................. hr {dH«o$Ë¶m§À¶m g§~§YmV IaoXrXmam§Mo h¸$ Am{U eº$s ~iH$Q> H$aÊ¶mgmR>r
ZmJarH$ Am{U gaH$maMr g§KQ>rV Midi Amho.
A) J«mhH$ Midi ~) J«mhH$dmX H$) g‘mOdmX

iii) g§¶wº$ amï´>g§K hr ñdV§Ì amï´>mMr ................. g§KQ>Zm Amho.
A) A§Vaamï´>r¶ ~) amï´>r¶ H$) ñWm{ZH$

iv) J«mhH$ B©-{ejU ho àm‘w»¶mZo ................ er g§~§{YV Amho.
A) XÿaÜdZr ~) B§Q>aZoQ> H$) B§Q>aH$m°‘

v) J«mhH$ MidirMr gwê$dmV .......... {dÚmnrR>mV gwê$ Pmë¶mgmaIo {XgVo.
A) ‘w§~B© ~) nwUo H$) {X„r

vi) J«mhH$m§Zm Ë¶m§À¶m h¸$m~m~V {e{jV d OmJ¥V H$aoU åhUOo ............. hmo¶.
A) J««mhH$ g§KQ>Z ~) J«mhH$ {ejU H$) J«mhH$ OmJ¥Vr

vii) amÁ¶ J«mhH$ VH«$ma {ZdmaU Am¶moJmÀ¶m gXñ¶ d¶mÀ¶m ............... dfm©n¶ªV nXmda amhÿ
eH$Vmo.
A) 60 ~) 65 H$) 70

viii) "pñdâQ>' AW© .............
A) gmogm¶Q>r ’$m°a dëS>©dmBS> B§Q>a~±H$ ’$m¶ZmpÝe¶b Q>obrH$å¶w{ZHo$eZ
~) gmogm¶Q>r ’$m°a dëS>©dmBS> B§Q>aH$m°‘ ’$m¶ZmpÝe¶b Q>obrH$å¶w{ZHo$eZ
H$) gmogm¶Q>r ’$m°a dëS>©dmBS> B§Q>aZoQ> ’$m¶ZmpÝe¶b Q>obrH$å¶w{ZHo$eZ

ix) ¶§J OyZ MmoB© 1 ¶m§Zr gm§{JVbo H$s .............. ì¶m eVH$mV B§Q>aZoQ>À¶m {dH$mgm‘wio
Bbo³Q´>m°{ZH$ ~mOmamMm OÝ‘ Pmbm.
A) 18 ~) 19 H$) 20
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~) MyH$ H$s ~amo~a Vo gm§Jm. (H$moUVohr gmV) [7]
i) ImOJr, gmd©O{ZH$ qH$dm ghH$mar Agboë¶m gd© joÌm§da J«mhH$ g§ajU bmJy Amho.
ii) J«mhH$m§À¶m h¸$m§Mo g‘yh ho A{YH$ma gwajm, ‘m{hVr, {ZdS> à{V{Z{YËd, {ZamH$aU, {ejU

BË¶mXter g§~§{YV Amho.
iii) J«mhH$dmX hm XmofnyU© CËnmXZo Ag‘mYmZH$maH$ godm Am{U A¶mo½¶ ì¶mnma nÕVr~Ôb

H$m¶m©pÝdV Zmhr.
iv) J«mhH$m§Zm Ë¶m§À¶m h¸$m~m~V {e{jV d OmJ¥V H$aUo åhUOo J«mhH$ g§KQ>Z hmo¶.
v) ^maVr¶ ‘mZH$ ã¶wamo {d{dY e¡j{UH$ g§ñWm§‘Ü¶o ‘mZHo$ H$m¶©H«$‘m§À¶m e¡j{UH$ dmnamMo

Am¶moOZ H$aVo.
vi) J«mhH$ Midir‘wio J«mhH$ Am{U CËnmXZ ¶m§Mo nañna g§~§Y gwYmaVmV.
vii) J«mhH$ g§ajU H$m¶ÚmVrb VaVwXr Z¡g{J©H$ Ý¶m¶mb¶mbm nwaH$ ZmhrV.
viii) B©-H$m°‘g©À¶m ‘mÜ¶‘mVyZ CËnmXZmMr Am°ZbmB©Z IaoXr-{dH«$s AmdKS>> Pmbr Amho.
ix) B©-ì¶dgm¶ g§nyU© ì¶dgm¶mda Am{U Á¶m ‘yë¶m§‘Ü¶o Vo H$m¶© H$aVo Ë¶m ‘yë¶m§Mr l§¥Ibm

à^m{dV H$aVo.

à.à.à.à.à.2) "J«mhH$dmX' ì¶m»¶m Úm. J«mhH$dmXmMr CËH«$m§Vr ¶mda g{dñVa MMm© H$am. [14]

à.à.à.à.à.3) J«mhH$ g§ajUmMr ì¶már Am{U C{Ôï>o ñnï> H$am. [14]

à.à.à.à.à.4) "J«mhH$ {ejU' ì¶m»¶m Úm. J«mhH$ {ejUmMr JaO d ‘hËd ñnï> H$am. [14]

à.à.à.à.à.5) J«mhH$ {ejUVrb "àgma ‘mÜ¶‘mMr' Am{U "e¡j{UH$ g§ñWm§Mr' ŷ{‘H$m ñnï> H$am. [14]

à.à.à.à.à.6) "J«mhH$' ì¶m»¶m H$am. J«mhH$ g§ajU H$m¶Xm, 1986 Mr d¡{eï>²¶o ñnï> H$am. [14]

à.à.à.à.à.7) "B©-H$m°‘g©' ì¶m»¶m Úm. B©-H$m°‘g©Mr JaO d ‘hÎd ñnï> H$am. [14]

à.à.à.à.à.8) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [14]

A) J«mhH$mMo A{YH$ma
~) ñd§¶godr g§KQ>Zm
H$) AZw{MV ì¶mnma nÕVr
S>) B©-H$m°‘g©Mo ‘hÎd





Q1) a) Fill in the blanks with suitable options given below (Any seven) : [7]

i) The economic condition of a __________ refers to a set of
economic factors that have great influence on business organisation
and their operations.

a) State

b) Nation

c) International

ii) The political and administrate system in a _________ dictates
policies formulation, its implementation and control of business.

a) Country

b) Company

c) Management

iii) The physical environment of a business consists of ________
and man made components.

a) Natural

b) Material

c) Environmental

Total No. of Questions : 8]

[Total No. of Pages : 8
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iv) Use ___________ instead of commercial inorganic fertilizers to
fertilize gardens and yard plants.

a) Composting

b) Chemical

c) Company made

v) On the basis of origin of air pollutants they can be classified as
_________ or secondary pollutants.

a) Primary

b) Higher

c) Senior

vi) An entrepreneur has to face may obstacles or problems and because
of these, he may lose his ___________.

a) Confidence

b) Personality

c) Temper

vii) Integrated rural development programme is for the rural
_________ person.

a) Poor

b) Rich

c) Farmer

viii) An entrepreneur is a person with a __________ need for
achievement.

a) High

b) Low

c) Medium

ix) The word entrepreneur is derived from ___________ language.

a) French

b) Marathi

c) Greek
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b) State whether the following statements are true or false (Any Seven) :
[7]

i) When the government impases high tax on profit then it acts as
hindrance in the group.

ii) Export and import oriented industry tends to be located near post.
So that shipping of goods may be easy and also the transportation
cost may be minimised.

iii) Illiteracy is not closely correlated to poverty.

iv) Pollution is the introduction of contaminants into the natural
environment that causes adverse change.

v) Reducing waste is simple step in preventing pollution.

vi) Turn on lights and appliances when they are not in use.

vii) The term 'disguised unemployment' commonly refers to a situation
of employment with surplus manpower.

viii) Government has banned the employment of children below the
age of 14 years, in factories, mines and risky employment.

ix) The entrepreneur takes initiative accept risk of failure and have
internal locus of control.

Q2) State the concept of Business Environment. Explain in detail the aspects of
business environment. [14]

Q3) a) Explain the inter-relationship between business environment and
entrepreneur. [7]

b) State the importance of Business Environment. [7]

Q4) What do you mean by Air Pollution? Describe in detail the causes and
remedies of Air Pollution. [14]

Q5) Explain the concept of Unemployment. Explain in detail the types of
Unemployment. [14]
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Q6) What is Poverty? Describe in detail the causes and remedies of poverty.
[14]

Q7) What do you mean by entrepreneur? Explain in detail the competencies of
an Entrepreneur. [14]

Q8) Write short notes (Any Two) : [14]

a) Opportunities in Environment.

b) Black money.

c) Social Injustice.

d) Distinction between Entrepreneur and Intrapreneur.


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F.Y. B.Com.

(116 e) : BUSINESS ENVIRONMENT AND
ENTREPRENEURSHIP - I

(2019 Pattern) (CBCS) (Semester - I)
(_amR>r ê$nm§Va)

doi : 2½ Vmg     ] [EHy$U JwU : 70
gyMZm :

1) àíZ H«§$. 1 d àíZ H«§$. 8 gmoS>{dUo A{Zdm ©̀ Amho.
2) àíZ H«$_m§H$ 2 Vo àíZ H§«$. 7 n¡H$s H$moUVohr VrZ àíZ gmoS>{dUo.
3) COdrH$S>rb A§H$ àíZm§Mo nwU© JwU Xe©{dVmV.
4) g§X^m©gmR>r _yi B§J«Or àíZn{ÌH$m nmhmdr.

PA-1731

àíZ àíZ àíZ àíZ àíZ 1) A) Imbr {Xboë`m n`m©̀ m_YyZ `mo½` n`m©̀  {ZdSy>Z [aH$må`m OmJm ^am. (H$moUË`mhr gmV).
[7]

i) EImÚm ............... Am{W©H$ pñWVr åhUOo Am{W©H$ KQ>H$m§À`m g§MmMm g§X ©̂
AgVmo. Á`mMm ì`dgm` g§KQ>Zm Am{U Ë`m§À`m H$m`m©da _moR>m à^md AgVmo.

A) amÁ` Mr

~) amï´>mMr

H$) Am§Vaamḯ>r`

ii) .............. amOH$s` Am{U àemgH$s` ì`dñWm hr YmoaUo ~Z{dUo, {VMr
A§_b~OmdUr Am{U ì`dgm`mdarb {Z §̀ÌUo ̀ mda Adb§~yZ AgVo.

A) XoemVrb

~) H§$nZrVrb

H$) ì`dñWmnZmVrb

iii) ì`dgm`mÀ`m ̂ m¡{VH$ dmVmdaUm_Ü ò ............... Am{U _mZd{Z{_©V KQ>H$ AgVmV.

A) Z¡g{J©H$

~) gm{hË`

H$) n`m©daUr`

5 P.T.O.
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iv) JmS>©Ýg Am{U ̀ mS>© dZñnVr gw{nH$Vm H$aÊ`mgmR>r ì`mdgm{`H$ AO¡{dH$ IVmEodOr
................ dmnam.

A) eoUIV

~) amgm`{ZH$

H$) H§$nZrMo ~Z{dbobo

v) dm ỳ àXÿfH$m§À`m CËnÎmrÀ`m AmYmao Ë`m§Mo .............. qH$dm Xþæ`_ àXÿfH$ åhUyZ
dJuH$aU Ho$bo OmD$ eH$Vo.

A) àmW{_H$

~) Cƒ

H$) d[að>

vi) EImXçm CÚmoJ H$mbm ~è`mM AS>Wiçm§Zm qH$dm AS>MUtZm gm_Zm H$amdm bmJVmo
Am{U `m H$maUmñVd Vmo Amnbm .............. J_mdy eH$Vmo.

A) AmË_{dídmg

~) ì`{º$_Ëd

H$) ñd^md

vii) EH$mpË_H$ J«m_rU {dH$mg H$m ©̀H«$_ J«m_rU ............... ì`º$sgmR>r Amho.

A) Jar~

~) lr_§V

H$) eoVH$ar

viii) CÚmoOH$ åhUOo Aer ì`º$s H$s, Orbm H$V©¥ÎdmMr ............... Amdí`H$Vm
AgVo.

A) Cƒ

~) H$_r

H$) _Ü`_

ix) CÚmoOH$ hm eãX ................ ^mfoVyZ Ambm Amho.

A) \o«$ÝM

~) _amR>r

H$) J«rH$
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~) Imbrb {dYmZo MyH$ H$s ~amo~a Vo gm§Jm (H$moUVohr gmV) … [7]

i) Ooìhm gaH$ma Zâ`mda Cƒ H$a Xa bmXVo Voìhm Vo JQ>mVrb AS>Wio åhUyZ H$m_
H$aVo.

ii) {Z`m©V Am{U Am`mV {^_wI CÚmoJ ~§XamOdi pñWV AmhoV. OoUo H$ê$Z dñVw§Mr
dhZ gwb^ hmoB©b Am{U dmhVyH$sMr qH$_Vhr H$_r hmoB©b.

iii) {ZajaVoMm Xm[aÐ `mer Odi OdiMm g§~§Y Zmhr.

iv) àXÿfU hr Xÿ{fV nXmWm©Mr AmoiI AgyZ Z¡g{J©H$ dmVmdaUmV Vo à{VHy$b ~Xbm§Mo
H$maU R>aVo.

v) H$Mam H$_r H$aUo ho àXÿfU amoIÊ`mgmR>r H$_r XOm©Mo nmD$b Amho.

vi) {Xdo Am{U CnH$aUo dmnamV ZgVrb Voìhm Vr Mmby H$am.

vii) "Nw>nr ~oamoOJmar' hm eãX gm_mÝ`V… A{V[aº$ _Zwî`~imgh amoOJmamÀ`m n[apñWVrbm
gy{MV H$aVmo.

viii) H$maImZo, ImUr Am{U YmoH$mXm`H$ ZmoH$ar_Ü`o 14 dfm©Imbrb _wbm§Zm ZmoH$ar
XoÊ`mg gaH$maZo ~§Xr KmVbr Amho.

ix) CÚmoOH$ nwT>mH$ma KoVmV, An`emMm YmoH$m ñdrH$maVmV Am{U A§VJ©V {Z §̀ÌUmImbr
AgVmV.

àíZ àíZ àíZ àíZ àíZ 2) ì`mdgm{`H$ n`m©daUmMr g§H$ënZm gm§Jm. ì`mdgm{`H$ n`m©daUmÀ`m ~mOy (Aspects) g{dñVanUo
{deX H$am. [14]

àíZ àíZ àíZ àíZ àíZ 3) A) ì`mdgm{`H$ n`m©daU Am{U CÚmoOH$ `mVrb Am§Va g§~§Y ñnï> H$am. [7]

~) ì`mdgm{`H$ n`m©daUmMo _hÎd gm§Jm. [7]

àíZ àíZ àíZ àíZ àíZ 4) hdm àXÿfU `mnmgyZ AmnUmg H$m` AW©~moY hmoVmo? hdm àXÿfUmMr H$maUo Am{U Cnm``moOZm
g{dñVanUo dU©Z H$am. [14]

àíZ àíZ àíZ àíZ àíZ 5) ~oamoOJmar hr g§H$ënZm ñnï> H$am. ~oamoOJmarMo àH$ma g{dñVanUo {deX H$am. [14]

àíZ àíZ àíZ àíZ àíZ 6) Xm[aÐç åhUOo H$m`? Xm[aÐçmMr H$maUo Am{U Cnm``moOZm g{dñVanUo dU©Z H$am. [14]
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àíZ àíZ àíZ àíZ àíZ 7) CÚmoOH$ `mnmgyZ AmnUmg H$m` AW©~moY hmoVmo? CÚmoOH$mÀ`m j_Vm g{dñVanUo {deX H$am.
[14]

àíZ àíZ àíZ àíZ àíZ 8) {Q>nm {bhm (H$moUË`mhr XmoZ) … [14]

A) n`m©daUmVrb g§Yr.

~) H$mim n¡gm.

H$) gm_m{OH$ AÝ`m`.

S>) CÚmoOH$ Am{U A§VñW… CÚmoOH$ `mVrb \$aH$.





Q1) A) Fill in the Blanks (any 5) : [5]
i) Indian Post Payment Bank is _____.

a) Private Sector Company
b) Public Sector Company
c) Cooperative Sector Company
d) None of the above

ii) _____ can pass the law of E-banking?
a) SBI b) Parliament
c) RBI d) Merchant banking

iii) _____ is not true about digital marketing?
a) Digital marketing is any form of marketing products or services

that involves electronic devices
b) Digital marketing can be done online
c) Digital marketing cannot be done online
d) Digital marketing is often referred to as online marketing, internet

marketing or web marketing
iv) Blockchain consist of _______.

a) Transaction data b) A hash points
c) A timestamp d) All of the above

v) First step of Blockchain project implementation is _____.
a) Requirement identification
b) Feasible study on the security
c) Controlling and monitoring the project
d) Screen idea consideration

Total No. of Questions : 6]

[Total No. of Pages : 4

[5952]-117
F.Y. B.Com. - I

116f : FOUNDATION COURSE IN COMMERCE - I
(2019 Pattern) (CBCS) (Semester - I)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) Question No. 1 and Question No. 6 are Compulsory.
2) Solve any  Three Questions from Question No. 2 to Question No. 5.
3) Figures to the right indicate full marks.

PA-1732

SEAT No. :

P.T.O.
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vi) _____ is not an external environmental component of a business
organization?
a) Social environment b) Educational environment
c) Business work culture d) Political environment

B) Match the following : [5]
i) Issued capital a) 2008
ii) Pradhan Mantri Kaushal b) Promoting Women Entrepreneurs

Vikas Yojana
iii) Trade - related c) 2015

Entrepreneurship Assistance
and Development

iv) Atal Innovation Mission d) 2016
v) ICICI bank was the first bank e) The capital was offered to the

in India to launch mobile Public to Subscribe.
banking in India

Q2) What is a Joint Stock Company? State the advantages and disadvantages of
Joint Stock Companies. [15]

Q3) What is E-commerce? Explain the advantages and disadvantages of E-
Commerce. [15]

Q4) Define the term 'Digital India'. State the advantages of digital India. [15]

Q5) Explain in details the Advantages and Limitations of Internet and Mobile
Banking. [15]

Q6) Write short notes (Any 3) : [15]
a) Importance of Organization
b) Types of Cooperative Society
c) Types of Block Chain
d) Pradhan Mantri Kaushal Vikas Yojana (PMKVY)
e) KPO.


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[5952]-117
F.Y. B.Com. - I

116f : FOUNDATION COURSE IN COMMERCE - I
(2019 Pattern) (CBCS) (Semester - I)

(_amR>r ê$nm§Va)
doi : 2½ Vmg]                      [EHy$U JwU : 70

gyMZm : 1) àíZ H«$_m§H$ 1 Am{U àíZ H«$_m§H$  6 A{Zdm ©̀ AmhoV.
2) àíZ H«$. 2 nmgyZ àíZ H«$. 5 n ª̀V H$moUVohr VrZ àíZ gmoS>dm.
3) COì`m ~mOyMo A§H$ nyU© JwU Xe©{dVmV.

PA-1732

àíZ àíZ àíZ àíZ àíZ 1) A)A)A)A)A) [aH$må`m OmJm ^am. (H$m oUË`mhr [aH$må`m OmJm ^am. (H$m oUË`mhr [aH$må`m OmJm ^am. (H$m oUË`mhr [aH$må`m OmJm ^am. (H$m oUË`mhr [aH$må`m OmJm ^am. (H$m oUË`mhr 5))))) [5]
i) B§{S>`Z nmoñQ> no_|Q> ~±H$ {h .............. Amho.

A) ImOJr joÌmVrb H§$nZr ~) gmd©O{ZH$ joÌmVrb H§$nZr
H$) ghH$mar joÌmVrb H§$nZr S>) darbn¡H$s H$moUVohr Zmhr

ii) B©-~±qH$JMm H$m`Xm ............. nm[aV H$ê$ eH$Vmo.
A) Eg. ~r. Am`. ~) g§gX
H$) Ama. ~r. Am`. S>) ì`mnmar ~±qH$J

iii) {S>{OQ>b _mH}$Q>tJ ~Ôb .......... Iao H$m` Zmhr.
A) {S>{OQ>b {dnUZ ho {dnUZ CËnmXZo qH$dm godm§Mm H$moUVmhr àH$ma Amho

Á`m_Ü ò BboŠQ´>m°{ZH$ {S>ìhmBg g_m{dï> AgVmV
~) {S>{OQ>b _mH}$Q>tJ Am°ZbmBZ H$aVm òVo
H$) {S>{OQ>b _mH}$Q>tJ Am°ZbmBZ H$aVm òUma Zmhr
S>) {S>{OQ>b {dnUZ ghgm Am°ZbmBZ {dnUZ, B§Q>aZoQ> {dnUZ qH$dm do~ {dnUZ

åhUyZ AmoiIbo OmVo
iv) ãbm°H$_Ü ò ................. g_m{dï> Amho.

A) ì`dhma S>oQ>m ~) h°e nm°BªQ>
H$) EH$ Q>mB_ñQ>°ån S>) darb gd©

v) ãbm°H$MoZ àH$ën A§_b~OmdUrMr ............... n{hbr nm`ar Amho.
A) Amdí`H$Vm AmoiI
~) gwajoMm eŠ` Aä`mg
H$) àH$ën {Z §̀{ÌV H$aUo Am{U XoIaoI R>odUo
S>) ñH«$sZ H$ënZm {dMma

3 P.T.O.
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vi) Imbrb n¡H$s H$moUVm ì`dgm` g§ñWoMm ~mø n`m©daU KQ>H$ Zmhr.

A) gm_m{OH$ n`m©daU ~) e¡j{UH$ n`m©daU

H$) ì`dgm` H$m ©̀g§ñH¥$Vr S>) amOH$s` n`m©daU

~)~)~)~)~) OmoS>çm Owidm …OmoS>çm Owidm …OmoS>çm Owidm …OmoS>çm Owidm …OmoS>çm Owidm … [5]

i) {d{H«$g H$mT>bobo ^m§S>db A) 2008

ii) àYmZ_§Ìr H$m¡eb {dH$mg `moOZm ~) _{hbm CÚmoOH$m§Zm àmoËgmhZ XoUo

iii) ì`mnma - g§~§{YV CÚmoOH$Vm ghmæ` H$) 2015

Am{U {dH$mg

iv) AQ>b BZmoìhoeZ {_eZ S>) 2016

v) ^maVmV _mo~mBb ~±qH$J ICICI ~±Ho$Zo B) g^mgX hmoÊ`mgmR>r OZVobm
àW_ gwê$ Ho$br hmoVr ^m§S>db XoD$ Ho$bo hmoVo

àíZ àíZ àíZ àíZ àíZ 2) g§̀ wº$ ñQ>m°H$ H§$nZr åhUOo H$m`? g§̀ wº$ ñQ>m°H$ H§$nÝ`m§Mo \$m`Xo Am{U VmoQ>o gm§Jm. [15]

àíZ àíZ àíZ àíZ àíZ 3) B©-H$m°_g© åhUOo H$m`? B©-H$m°_g©Mo \$m`Xo Am{U VmoQ>o Vnerbdma ñnï> H$am. [15]

àíZ àíZ àíZ àíZ àíZ 4) "{S>{OQ>b B§{S>`m' `m eãXmMr ì`m»`m Úm. {S>{OQ>b B§{S>`mMo \$m`Xo gm§Jm. [15]

àíZ àíZ àíZ àíZ àíZ 5) B§Q>aZoQ> Am{U _mo~mB©b ~±qH$JMo \$m`Xo Am{U _`m©Xm Vnerbdma ñnï> H$am. [15]

àíZ àíZ àíZ àíZ àíZ 6) {Q>nm {bhm. (H$moUË`mhr 3) [15]

A) g§ñWoMo _hÎd.

~) ghH$mar g§ñWmMo àH$ma.

H$) ãbm°H$ MoZMo àH$ma.

S>) àYmZ_§Ìr H$m¡eb {dH$mg `moOZm (PMKVY).

B) Ho${nAmo (KPO).


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Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

PA-1733 [Total No. of Pages : 2

SEAT No. :

Q1) Attempt any THREE out of FIVE . [15]

a) What is the main argument of the essay the sporting spirit?

b) How far do you subscribe to oruell’s view on the ‘Sporting Spirit?

c) What is George Oruell’s opinion about the olympic Games?

d) What is the theme of the poem ‘The World is Too Much with Us’?

e) Accoreling to william wordsworth, what has made people insensitive to
the beauty of nature?

Q2) Attempt any THREE out of FIVE [15]
a) What does professor Bouvier have to say about the intelligence of insects?

b) How does Robert Benchely convinice the reacters that the insects can
think?

c) Discuss the humour in the poem ‘The Fortune Teller?

d) What is the main idea of the poem ‘The Fortune Teller’?

e) What kind of English does Joseph Furtado use in the Poem ‘The Fortune
Teller’?

Q3) Attempt any Two out of Four. [20]
a) What is the main thrust of thee essay ‘Good manners’?

b) Describe the significance of the story of the young man at the beginning
of the essay. ‘Good Manners’?

c) What kind of freedom does Tagore desire for his country?

d) According to Tagore, how should knowledge be? Explain.

P.T.O.
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Q4) Attempt any FOUR out of SIX. [20]

a) Why is the bank manager annoyed with the narrator in ‘My Financial
career’?

b) How does stephen leacock bring out the humour of the situation in ‘My
Financial Career’?

c) What happens to the narrator when he enters a bank in ‘My Financial
Career?

d) What is the main theme of the poem ‘I sit and Look Out?

e) Comment on the Universality of the poem’ I sit and Look out’?

f) What did the manager think about the narrator in ‘My Financial career’?


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MARATHI (‘amR>r)
117-B : ^mfm gm{hË¶ Am{U H$m¡eë¶ {dH$mg

Aä¶mgnwñVH$: CËH$f©dmQ>m
(2019 Pattern) (Semester - I)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm :gyMZm :gyMZm :gyMZm :gyMZm : 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.
2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

PA-1734

à.à.à.à.à.1) Imbrbn¡H$s H$moUË¶mhr EH$m {df¶m§da 300 eãXm§n¶ªV {Z~§Y {bhm. [15]
A) AmOÀ¶m Vê$Um§nwT>rb H$V©ì¶o
~) ñÌr CÚmo{OH$m d ^maVr¶ AW©ì¶dñWm
H$) n¶m©daUmMo {‘Ì ìhm! (b{bV)
S>) Om{hamVrMo ¶wJ

à.à.à.à.à.2) Imbrbn¡H$s H$moUË¶mhr XmoZ àíZm§Mr CÎmao 50 eãXmn¶ªV {bhm. [15]
A) ghH$mar MidirMr JwUd¡{eï>¶o {bhm.
~) d¥jeoVrMo ñdê$n WmoS>³¶mV ñnï> H$am.
H$) AmnU ñ‘mQ>© ’$moZMr qH$‘V H$m ‘moOVmo? Vo ñnï> H$am.
S>) "{ZgJm©Zo {Xbobm R>odm' amhr~mB© nmonoao ¶m§Zr H$em àH$mao OVZ Ho$bm Amho? Vo {deX H$am.

à.à.à.à.à.3) Imbrbn¡H$s H$moUË¶mhr XmoZ àíZm§Mr CÎmao 150 eãXmn¶ªV {bhm. [20]
A) S>m°. ~m~mgmho~ Am§~oS>H$a ¶m§Mo e¡j{UH$ {dMma ñnï> H$am.
~) "Mbm Oam H$m‘ H$ê$' ¶m nmR>mVrb d¡Mm[aH$Vm ñnï> H$am.
H$) eaX OmoetZr ‘m§S>bobr "^maV {dê$Õ B§{S>¶m' hr g§H$ënZm {deX H$am.
S>) hZw‘§Vamd Jm¶H$dmS> ¶m§À¶m àJVrMm AmT>mdm WmoS>³¶mV {bhm.

à.à.à.à.à.4) Imbrbn¡H$s H$moUË¶mhr EH$m àíZm§Mo CÎmao 300 eãXmn¶ªV {bhm. [20]
A) Z¡Zm bmb {H$XdB© EM.Eg.~r.gr. ‘Yrb ¶moJXmZ ñnï> H$am.
~) {Z{b‘m {‘lm ¶m§Zr {ñÌ¶m§gmR>r Ho$boë¶m gm‘m{OH$ CnH«$‘m§Mm n[aM¶ H$ê$Z Úm.



[Total No. of Pages : 1

SEAT No. :
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HINDI-I (qhXr) (Optional)

117C : H$mì¶, H$hmZr VWm ì¶mdhm[aH$ qhXr
nmR²>¶nwñVH$ … gm{hË¶ gm¡a^ … g§nm.àmo.S>m°. gXmZ§X ^mogbo

(2019 Pattern) (CBCS) (Semester - I)

g‘¶ : 2½ K§Q>o] [ nyUmªH$ : 70

gyMZm … 1) g^r àíZ A{Zdm¶© h¢&
2) Xm{hZr Amoa {bIo A§H$ àíZm| Ho$ nyUmªH$ h¢&

PA-1735

à.à.à.à.à.1) {ZåZ{b{IV ‘| go {H$Ýht Xmo àíZm| Ho$ CÎma g§jon ‘| {b{IE& [16]

A) "ñdXoe Ho$ à{V' H${dVm ‘| H$d{¶Ìr ñdV§ÌVm H$m ñdmJV {H$g àH$ma H$aVr h¡?

~) "hmo JB© h¡ nra nd©V-gr {nKbZr Mm{hE' H${dVm ‘| ì¶º$ H«$m§{V H$s ^mdZm H$mo ñnï> H$s{OE&
H$) "{nVm Ho$ OyVo' H${dVm H$m ^mdmW© {b{IE&
S>) "no‹S> H$s nwH$ma' H${dVm H$m H|$Ðr¶ ^md {b{IE&

à.à.à.à.à.2) {ZåZ{b{IV ‘| go {H$Ýht Xmo àíZm| Ho$ CÎma g§jon ‘| {b{IE& [16]

A) ""^mobmam‘ H$m Ord'' H$hmZr ‘| {M{ÌV ì¶§½¶ H$mo AnZo eãXm| ‘| {b{IE&

~) ""CgZo H$hm Wm'' H$hmZr H$s H$WmdñVw {b{IE&
H$) ""ì¶Wm H$m gaJ‘'' H$hmZr ‘| d{U©V Zmar Apñ‘Vm na àH$me S>m{bE&
S>) ""O§Jb H$m Xmh'' H$hmZr Ho$ ‘m‘m gmoZ H$s Mm[a{ÌH$ {deofVmE± {b{IE&

à.à.à.à.à.3) A) {ZåZ{b{IV ‘| go {H$gr EH$ AdVaU H$s gg§X ©̂ ì¶m»¶m H$s{OE& [7]

i) ""Imao Am±gy go Kwbo Jmb

AI| hbHo$ AWIwbo ~mb
PaVr Á¶m| aoe‘ H$s {H$aZ|, g§Pm H$s ~Xar go N>Z-N>Z!
{‘gar Ho$ hmoR>m| na gyIr {H$Z Aa‘mZm| H$s {dH$b ß¶mg!''

ii) ""Jbr Jbr ‘| no‹S> bJmAm|,
ha àmUr ‘| Amg OJm Xmo&
amo-amoH$a nwH$ma ahm hÿ±,

h‘| O‘t go ‘V CIm‹S>m|&''

[Total No. of Pages : 2

SEAT No. :

P.T.O.



2[5952]-120

~) {ZåZ{b{IV ‘| go {H$gr EH$ AdVaU H$s gg§X ©̂ ì¶m»¶m H$s{OE& [7]

i) ""A~ Vwåh| dhr {‘boJm ‘wh„o dmbm| {OgHo$ bm¶H$

hmo Vw‘& C’$! Vwåhmar godm H$aVo-H$aVo ‘¢Z| IwX H$mo,

n[adma H$mo, Imo {X¶m, H$moB© BVdma-BVdma gm Zht Am¶m&''

ii) ""‘yI© Ordm| H$mo bmVo-bmVo ~y‹T>m hmo J¶m, {’$a ^r EH$

‘m‘ybr ~yT>o AmX‘r Ho$ Ord Zo VwPo MH$‘m Xo {X¶m&''

à.à.à.à.à.4) {ZåZ{b{IV ‘| go {H$Ýht Xmo àíZm| Ho$ CÎma g§jon ‘| {b{IE& [14]

A) ¶y{ZH$moS> H$m n[aM¶ g§jon ‘| {b{IE&

~) B§Q>aZoQ> H$s Cn¶mo{JVm na àH$me S>m{bE&

H$) "‘§Ì amO^mfm' H$m gm‘mÝ¶ n[aM¶ Xr{OE&

S>) B§Q>aZoQ> H$s gm‘mÝ¶ OmZH$mar {b{IE&

à.à.à.à.à.5) {ZåZ{b{IV ‘| go {H$Ýht Xg A§H$ VWm J{UVr¶ {Mh²Zm| H$mo XodZmJar ‘| {b{IE& [10]

i) 17

ii) 19

iii) 31

iv) 43

v) 59

vi) 74

vii) 85

viii) 90

ix) +

x) :

xi) –

xii) []


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F.Y. B.Com.

117 - D : GUJARATI
(2019 Pattern) (Regular) (Semester - I)

Time : 3 Hours]        [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

PA-1736

P.T.O.

SEAT No. :

âñ.âñ.âñ.âñ.âñ.1))))) A) l¡sygnu âñp¡“p S>hpb gMp¡. (L$p¡C‘Z ‘p„Q) [10]

1) dÝeL$pgu“ Qpf ‘v$ L$rhAp¡“p “pd S>Zphp¡.

2) “ftkl dl¡sp“u L$pìeL©$rsAp¡“p “pd S>Zphp¡.

3) dufp„bpC“p L$pìekS>®“ rhj¡ V|„$L$dp„ S>Zphp¡.

4) îuL©$óZ“¡ Å¡C“¡ “pNZp¡ iy„ L$l¡ R>¡?

5) d¡OpZuA¡ âp’rdL$, dpÝerdL$ A“¡ L$p̧g¡S> rinZ L$ep„ L$ep„ gu ¡̂g?

6) ‘pV$ZhpqX$ep L$p¡d“¡ A^p¡Nrs“¡ ‘„’¡ gC S>hp L$C kdpS> ìehõ’p lsu?

7) L$pL$pkpl¡b "dpZkpC“p v$uhp' “¡ ‘rhÓ su’® krgg S>¡hu L¡$d S>Zph¡ R>¡?

8) d¡OpZu“u “hgL$’pAp¡ S>Zphp¡.

b) 50 iåv$p¡dp„ S>hpb gMp¡. (L$p¡C‘Z b¡) [10]

1) dpZkpC“p v$uhp ‘yõsL$ rhi¡ V|„$L$dp„ S>Zphp¡.

2) dlpfpS> A“¡ ‘pV$ZhpqX$epAp¡“p¡ ‘fõ‘f â¡d A“¡ Apv$f V|„$L$dp„ S>Zphp¡.

3) "fpd fpM¡ s¡d fluA¡' ‘v$dp„ dufp iy„ L$l¡ R>¡?

4) “ftkl dl¡sp h¥óZhS>““p L$ep„ gnZp¡ r“ê$‘¡ R>¡?
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âñ.âñ.âñ.âñ.âñ.2))))) A) krhõspf S>hpb gMp¡. (L$p¡C‘Z A¡L$)(‘Û rhcpN) [10]

1) “ftkl dl¡sp“y„ Æh“ A“¡  L$h“

2) dÝeL$pgu“ NyS>fpsu kprlÐe“p ‘Û âL$pf "‘v$' “p¡ õhê$‘gnu ‘qfQe L$fhp¡.

b) krhõspf S>hpb gMp¡. (L$p¡C‘Z A¡L$)(NÛ rhcpN) [10]

1) d¡OpZu“u L$’“ i¥gu ‘f “p¢̂  gMp¡.

2) dlpfpS>“u Ny“p¡ ‘L$X$hp“u A“¡ Ny“¡Npfp¡“¡ kŷ pfhp“u fus--‘f “p¢̂  gMp¡.

âñ.âñ.âñ.âñ.âñ.3))))) A) V|„$L$“p¢̂  gMp¡. (L$p¡C‘Z A¡L$)(‘Û rhcpN) [5]

1) dufp„“p ‘v$p¡dp„ L$©óZâ¡d

2) Np¡‘u“u rhfl h¡v$“p“p ‘v$p¡

b) V|„$L$“p¢̂  gMp¡. (L$p¡C‘Z A¡L$)(NÛ rhcpN) [5]

1) dpZkpC“p v$uhp“ k„hpv$p¡ ‘f V|„$L$“p¢̂  gMp¡.

2) dlpfpS> A“¡ ‘pV$ZhpX$uep gp¡L$p¡“p suh°â¡d

âñ.âñ.âñ.âñ.âñ.4))))) A) L$p¡C‘Z A¡L$ rhje ‘f r“b„̂  gMp¡. [10]

1) kpdpÞe dp“hu ‘f L$p¡fp¡“p“u Akf

2) D“pmp“p¡ b‘p¡f

3) dpfp¡ fdZue A“¡ õdfZue âhpk

4) L$p̧g¡S>Æh““p¡ Apv$i®

âñ.âñ.âñ.âñ.âñ.5))))) A) AfÆg¡M“ [5]
sdpê„$ õL|$grgrhN kqV®$qaL¡$V$ Mp¡hpC Ney„ R>¡. L$p¸g¡S>dp„ âh¡i d¡mhhp dpV¡$ sd“¡ s¡“u S>ê$f ‘X$u
R>¡, Ap’u Xy$[àgL¡$V$ õL|$grgrhN kqV®$qaL¡$V$ gMu Ap‘hp dpV¡$ sdpfu ipmp“p ApQpe®îu“¡ A¡L$
AfÆ gMp¡.

b) Al¡hpgg¡M“ [5]

"f¼sv$p“ rirbf' rhi¡“p¡ Al¡hpg Apif¡ kp¡ iåv$p¡dp„ gMp¡.


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[5952]-122
F.Y. B.Com./B.A.

117E : SINDHI - TERM - I

qgYr
(2019 Pattern) (Semester - I)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) Q. No. 1 and Q. No. 6 are compulsory.
2) Solve any 3 questions from the remaining questions nos 2, 3, 4 and 5.

PA-1737

gwdmb..... 1)  A) ho{R>¶{Z ‘m§ ‹Imb ^[a¶mo Ho$ {d > [5]

(‘bra, ’$moJgoZ, bmb Xodb, {Xár, {‘aMy‘b, emaOmh)

i) ........... EAanmoQ>© Vm§ Q>¡³gr H$am‘m Xþ~B© S>mhþ§ gwR>r aµ’$Vma gm hbr.

ii) n§dmhê$ .............. JmoR> ‘| ah§Xmo hmo.

iii) ~ZrA Vo H$‘ H$aU bmB ............. Zmbo {hH$‹S>mo hmar H$‘w H§$Xmo hmo.

iv) ............. E| eodH$am‘ gwR>m ~mbnZ Om XmoñV hþAm.

v) {àVr E| ............. gmho‹S>r¶w§ hþ¶mo.

vi) JrVm gmogm¶Q>rA dmar b§~r {KQ>rA Ioo .............. ~mar {KQ>r {~ Md§Xm Am{h{Z.

B) Omo‹S>m {‘bm¶m| > [5]

i) hm{µOê$ 1) KQ>

ii) dYrH$ 2) J¡hm{µOê$

iii) n{dÌ 3) nyamo

iv) ZB© 4) An{dÌ

v) AYyamo 5) nwamUr

[Total No. of Pages : 2

SEAT No. :
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gwdmb..... 2) emh gmh~ n{hO§o ~¡V ‘| ~§XJr bmE N>m g‘Pm¶mo Amho? [15]

gwdmb..... 3) ""‘wº$s {H$Wo nmBªX|'' JrV ‘| aqdÐZmW Q>¡Jmoa Bída Io {H$Wo JmobU bmE M¶mo Amho. [15]

gwdmb..... 4) eodH$am‘ E| {‘aMy‘b Oo ~mao ‘| ~wYm¶m|. [15]

gwdmb..... 5) {àVrA Oo ~mao ‘| Wmo‹S>o ‘| {bImo. [15]

gwdmb..... 6) ho{R>¶{Z ‘m§ H§$qh {~ {hH$ Vo ‘O‘yZ {bIm|. [15]

i) g‘w§S> {H$Zmao {hH$ em‘.

ii) gmBªg Om M‘mËH$ma.

iii) nwamUo ~yQ> Or AmË‘H$Wm.

iv) AmoZbmBZ nT>mB© Om ’$mBXm E| Zw³gmZ.

v) Xþ:I gwI{Z Or gy§h§.


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F.Y.B.Com.
PERSIAN 

117F : Persian General ( Paper I)
 (2019 Pattern) (Semester - I)  

Time : 2½ Hours] [Max. Marks : 70

Instructions to the candidates:

 1) All questions are compulsory.

2) Figures to the right side indicate full marks.

Q1) Define and illustrate any Seven of the following. [14]

 
 










 










 
 

 
 


 
 
 

Q2) Write a short note on any three of the following: [12]

 
 
 
 
 

P.T.O.
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Q3) Write the summery of any one of the following Poems. [10]

  
 
 
 

Q4) Write a short note on any Two of the following Poets. [14]

 
 
 
 

Q5) a) Explain or translate any seven of the following Couplets into your

language. [14]

  
















 
  

 
  
  
  

 
  
 



 

 


 



b) Translate the following passage into your language. [6]

The Cheetah is the fastest land animal on earth. In the past,

Cheetahs live in India. They disappear 70 years ago. last week

cheetahs returns to India. Eight animal 8,000 kilometers from

Namibia.They will live in national park. The park has 5,000

sq u a re  k i l omete r s .  Ma ny  o the r  a n imal s  l ive  th e re .
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[5952]-124
F.Y.B.Com.

URDU - I
117G : Additional Urdu

(CBCS 2019 Pattern) (Semester - I)

Time : 2½ Hours] [Max. Marks : 70

  


[10]  




[10]  




[10]  




P.T.O.
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[5]    
 






 
 

[5]   
 
 

[5]     
[5]   

1) Promotion

2) Deficit

3) Action

4) Forecast

5) Agent

6) Industry

7) Stock Market

8) Profit

[10]   
 
 

 
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[10]   
 


 


 


 


 





 

 
   

 


 


[5952]-124 3



1[5952]-125

Total No. of Questions : 6]
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F.Y. B.Com.
117 H : FRENCH - I

(2019 Pattern) (Semester - I)

Time : 2½ Hours] [Max. Marks : 70

Instructions to the candidates:
1) All questions are compulsory.
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doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm :gyMZm :gyMZm :gyMZm :gyMZm : 1) gd© àíZ Amdí¶H$ AmhoV.
2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.

PA-1742

à.à.à.à.à.1) A) H$moUË¶mhr EH$mMo ‘amR>rV qH$dm B§J«OrV ^mfm§Va H$am. [5]
Translate any one in to Marathi or English.
i) ¶WmH$mb‘ZmJVmZm‘ nwñVH$^mÊS>ZrdrH$mZm§ dm Xo¶Xe~ÝYmo XÊS>:& H$m{‘©Ho$ MmonpñWVo

H$ma{UH$ñ¶mà{VÜZV: nyd©: gmhgXÊS>:& {dn¶©¶o H$m{‘©H$ñ¶ {ÛJwU:&
ii) VÝ‘¶m J¥hmJVoZ ~ ŵg¶m nrS²>¶‘mZoZ ËdËgH$memË^moOZ ‘O©Zr¶‘²& VÞ Ëd¶¡H$m{H$Ý¶mñ¶ ŷnVo

aº$^moOZ§ H$Vwª ¶wÁ¶Vo& VÀN®>Ëdm ‘ÝX{dg{n©ì¶mh - "^mo ¶{X ^¶m gh aº$nmZ§ H$[aî¶{g V{Îmð>&
~) H$moUË¶mhr EH$mMo ‘amR>rV qH$dm B§J«OrV ^mfm§Va H$am. [5]

Translate any one in to Marathi or English.
i) Vm¡ V‘ml‘‘mgmø Ðþ‘}~©hþ{^amd¥V‘²&

gwaå¶‘{^ drjÝVm¡ e~ar‘ä¶wno¶Vw:&&
Vm¡ Vw Ñï>dm VXm {gÕm g‘wËWm¶ H¥$VmÄO{b:&
nmXm¡ OJ«mh am‘ñ¶ bú‘Uñ¶ M Yr‘V:&&

ii) àH$sU© Ho$eo {d‘wIo ~«mh²‘Uo@W H¥$VmÄObm¡&
eaUmJVo Ý¶ñVeñÌo ¶mM‘mZo VWmOw©Z&&
A~mUo «̂ï>H$dMo «̂ï>^¾m¶wYo VWm&
Z {d‘w#mpÝV eñÌm{U eyam gmYwd«Vo pñWVm:&&

à.à.à.à.à.2) A) g§ñH¥$VmV CÎmao {bhm. [5]
Answer in Sanskrit.
i) e~¶m©: {Zdmg: Hw$Ì AmgrV²?
ii) ‘hm^maVo H${V ndm©{U?
iii) Aml‘o Xþî¶ÝV: H§$ G {fHw$‘ma§ Ñï>dmZ²?
iv) "‘ÝX{dg{n©Ur ¶yH$m' H$Wm¶m§ ‘ËHw$Uñ¶ Zm‘Yo¶§ {H$‘²?
v) JmU{Z³¶m{YH$mao d{U©V: {df¶: H$:?

~) H$moUË¶mhr EH$mMo gg§X ©̂ ñnï>rH$aU H$am. [5]
Reference to the context. (Any one)
i) AnamY§ ghoVmën§ Vwî¶oXëno@{U MmoX¶o&
ii) ^mo ^mo amOZ², Aml‘‘¥Jmo@¶§ Z hÝVì¶mo Z hÝVì¶:&

[Total No. of Pages : 2

SEAT No. :
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H$) H$moUË¶mhr XmoZ Q>rnm {bhm. [10]
Write any two short notes.
i) ‘¥JmZwgmar {nZmH$s - Mruganusari Pinaki
ii) amOm Xþî¶ÝV - The King Dushyanta
iii) H$m¡{Q>br¶ AW©emñÌ - Kautiliya Arthashastra

à.à.à.à.à.3) A) OmoS>¶m Owidm. [5]

Match the paris.
i) H$Êd A) amOm
ii) A{¾‘wI Am) ~«mh²‘U
iii) {dîUwe‘m© B) ZJar
iv) A‘aeº$s B©) R>oHy$U
v) ‘{hbmamoß¶ C) G fr

~) H$moUË¶mhr XmoZ {Q>nm {bhm. [10]
Write any two short notes.
i) e~arMr Am{VÏ¶erbVm - Shabaris hospitality
ii) ¶moJrída ¶mkdë³¶ - Yogishwar Yadnyavalkya
iii) H$Um©Mo AY‘u dV©Z - The unrighteous behavior of Karna

H$) H$moUË¶mhr EH$mMo gg§X ©̂ ñnï>rH$aU H$am. [5]
Reference to the context (any one)
i) àm¶oU ZrMm ì¶gZofw ‘¾m {ZÝXpÝV X¡d§ Hw$H¥$V§ Z Vw ñd‘²&
ii) ‘¶m Vw {d{dY§ dÝ¶§ g§{MV§ nwê$ff©̂ &

à.à.à.à.à.4) A) H$moUVohr EH$ g{dñVa CÎma {bhm. [10]

Write any one answer in detail.
i) {heo~mÀ¶m dh²¶m§V H$moUH$moUË¶m àH$maÀ¶m Zm§oXr H$amì¶mV?

What types of entries should be made in the books of account?
ii) H$ÊdG ftÀ¶m Aml‘n[agamMo dU©Z H$am.

Describe the hermitage of Kanvarushi
~) H$moUVohr EH$ g{dñVa CÎma {bhm. [10]

Write any one answer in detail.
i) e~arÀ¶m ì¶{º$‘ÎdmÀ¶m d¡{eï²>¶m§Mo dU©Z H$am.

Describe the personality traits of Shabari.
ii) "G UmXmZ‘²' nmR>mMm gmam§e {bhm.

Write a Summary of the lesson "G UmXmZ‘²'


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Instructions to the candidates:
 1) Attempt all questions.

2) Figures to the right side indicate full marks.

Q1) Translate into Arabic any Ten of the following sentences. [20]

1) This bus is coming from the College.

2) That bus is going to the University.

3) The Student is going to the School.

4) Ali is returning with Fatima from the market.

5) The chair is comfortable and new.

6) The new teacher is busy.

7) She is busy in her office.

8) His office is far from his home.

9) No, his college is closed.

10) My father is working in his room.

11) The head of the department is sitting.

12) The colour of his car is beautiful.

13) He is going to the house of his friend.

P.T.O.
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Q2) Translate into English any Ten of the following sentences. [20]

__  
__  
__  

__  
__  

_  __  
__  

__  
__  

__  
__  

__  
__   

Q3) Explain with examples any Two of the following Topics: [16]

__   
__  

__  
__    

Q4) Write in Arabic any Two of the following Terminologies: [14]

__  
__  

__  
__  
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Instructions to the candidates:
1) Question No. 1 and Question No. 6 are compulsory.
2) Solve any three Questions No.2 to Question No.5.
3) Figures in the right indicate full marks.
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Q1) a) Fill up the blanks: [5]

i) Reserve Bank of India was established in the ______ year.

ii) Full form of OBC is ________.

iii) Buddhism religion was founded by ________.

iv) _______ in diversity is the feature of Indian culture.

v) Man is ______ animal.

b) Select the proper option from the options given below and rewrite the
sentences: [5]

i) New Economic Policy of India was launched in _________.

(1971, 1991, 2011)

ii)
National Income

Per Capita Income =
− − − − − − −

.

(Total Population, Global Population, Working Population)

iii) _______ and Relative Poverty are the two types of Poverty.

(Absolute, Average, Aggregate)

iv) Indian Economy accepted Liberlisation, Privatisation and
___________.

(Globalisation, Generalisation, Industrialisation)

v) Union Public Service Commission was established in __________.

(1926, 1976, 1996)

P.T.O.
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c) State whether the following statements are True or False: [10]

i) Full form of CA is Chartered Accountant.

ii) Man is by nature a social animal.

iii) Gurunanak was the founder of Sikh religion.

iv) Poverty is the cause of Poverty.

v) The full form of CS is Corporate Secretary.

vi) The word Religion is derived from Greek word ‘Religare’.

vii) Economic inequality is an obstacle to Economic Development.

viii) Unity in Flexibility is the feature of Indian Culture.

ix) Only involuntary unemployment is considered while estimating the
total unemployment in an economy.

x) Nuclear family system is the feature of Indian Society.

Q2) What are the advantages of preparation for Civil Service Examinations. [10]

Q3) Define Unemployment. What are the causes of unemployment. [10]

Q4) Explain merits and demerits of Indian Caste System. [10]

Q5) Explain in detail causes and effects of Poverty. [10]

Q6) Write short notes on (Any 4): [20]

a) Opportunities in Banking Sector in India.

b) Problem of untouchability.

c) National Integration.

d) Minorities in India.

e) Economic equality.

f) MPSC.


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114 RES : FOUNDATION COURSE IN RESTRUCTURING - I
(2019 Pattern) (Semester - I) (A-Comp)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) àíZ H«$. 1 Am{U àíZ H« . 6 gmoS>{dUo Amdí¶H$ Amho.
2) àíZ H«$. 2 Vo àíZ H«$. 5 ‘Yrb H$moUVohr VrZ àíZ gmoS>dm.
3) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.
4) g§X^m©gmR>r B§J«Or àíZn{ÌH$m nhmdr.

PA-1744

à.à.à.à.à.1) A) [aH$må¶m OmJm ^am. [5]

i) [aPìh© ~±H$ Am°’$ B§{S>¶mMr ñWmnZm .............. ¶m dfu Pmbr.

ii) ................. ho Amo.~r.gr. Mo nyU© ê$n Amho.

iii) ~m¡Õ Y‘m©Mr ñWmnZm ................. ¶m§Zr Ho$br.

iv) {d{dYVoVrb ................. ho ̂ maVr¶ g§ñH¥$VrMo d¡{eï> Amho.

v) ‘Zwî¶ hm ........... àmUr Amho.

~) {Xboë¶m n¶m©¶m§n¡H$s ¶mo½¶ n¶m©¶ {ZdSy>Z Imbrb {dYmZo nwÝhm {bhm. [5]

i) ^maVmV Zì¶m Am{W©H$ YmoaUmMr gwê$dmV .................... ¶m dfu Pmbr.

(1971, 1991, 2011)

ii) XaS>moB© CËnÞ = 
− − − − −
amïŕ¶ CËnÞ

(EHy$U bmoH$g§»¶m, OmJ{VH$ bmoH$g§»¶m, H$m¶©j‘ bmoH$g§»¶m)

iii) ................ Am{U {Zanoj Xm[aÐ ho XmoZ Xm[aÐ¶mMo àH$ma AmhoV.

(gmnoj, gamgar, EHy$U)

iv) ^maVr¶ AW©ì¶dñWoZo CXmarH$aU, ImOJrH$aU Am{U ................. Mm pñdH$ma Ho$bm.

(OmJ{VH$sH$aU, gmd©{ÌH$sH$aU, CÚmo{JH$sH$aU)

v) H|$Ðr¶ bmoH$godm Am¶moJmMr (UPSC) ñWmnZm ................... ¶m dfu Pmbr.

(1926, 1976, 1996)



4[5952]-129

H$) Imbrb {dYmZo MyH$ H$s ~amo~a Vo gm§Jm. [10]

i) gr. E. Mo nyU© ê$n MmQ>©S> AH$m§CQ>§Q> Amho.

ii) ‘mUyg ñd^mdV: EH$ gm‘m{OH$ àmUr Amho.

iii) Jwê$ZmZH$ Ho$ erI Y‘m©Mo g§ñWmnH$ hmoVo.

iv) Xm[aÐ ho Xm[aÐ¶mMo H$maU Amho.

v) gr. Eg. (CS) Mo nyU© ê$n H$m°nm©aoQ> goHo«$Q>ar Amho.

vi) [abrOZ hm eãX J«rH$ ‘yi eãX [abmoJa nmgyZ Ambm Amho.

vii) Am{W©H$ {df‘Vm Am{W©H$ {dH$mgmVrb AS>Wim Amho.

viii) bd{MH$VoVrb EH$Vm ho ^maVr¶ g§ñH¥$VrMo d¡{eï>¶ Amho.

ix) AW©ì¶dñWoVrb EHy$U ~oamoOJmarMm A§XmO KoVm§Zm ’$º$ AZ¡pÀN>H$ ~oamoOJmar {dMmamV
KoVbr OmVo.

x) {d^º$ Hw$Q>§w~nÕV ho ^maVr¶ g§ñH¥$VrMo d¡{eï>¶ Amho.

à.à.à.à.à.2) gZXr godm narjm§À¶m V¶marMo ’$m¶Xo H$moUVo? [10]

à.à.à.à.à.3) ~oamoOJmarMr ì¶m»¶m {bhm. ~oamoOJmarMr H$maUo H$moUVr? [10]

à.à.à.à.à.4) ^maVr¶ OmVr ì¶dñWoMo JwU d Xmof ñnï> H$am. [10]

à.à.à.à.à.5) Xm[aÐ¶mMr H$maUo Am{U n[aUm‘ g{dñVa ñnï> H$am. [10]

à.à.à.à.à.6) {Q>nm {bhm. (H$moUË¶mhr Mma) [20]

A) ^maVr¶ ~±qH$J joÌmVrb g§Yr

~) Añn¥í¶VoMr g‘ñ¶m

H$) amï´>r¶ EH$mË‘Vm

S>) ^maVr¶ Aëng§»¶m§H$

B) Am{W©H$ g‘mZVm

’$) ‘hmamï´> bmoH$godm Am¶moJ (MPSC)


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115 - A : COMPUTER APPLICATIONS-I
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Instructions to the candidates:
1) Solve any Five questions.
2) All questions carry equal marks.
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Q1) Explain the following types of Computers:

a) Supercomputer

b) Microcomputer

Q2) Convert the following:

a) Convert (873)
10

 Decimal number into its equivalent Octal number.

b) Convert (536)8 Octal number into its equivalent Decimal number.

c) Convert (59)
10

 Decimal number into its equivalent Hexadecimal number.

d) Convert (10110)
2
 Binary number into its equivalent Decimal number.

Q3) a) What is Operating System? Explain.

b) Explain function of ALU and Control Unit of CPU.

Q4) Explain briefly any five applications of Computer.

Q5) Write a note on :

a) DVD

b) Control Panel

Q6) Explain any two output devices in detail.

Q7) State and explain any five features of Word processing software.


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ADVERTISING, SALES PROMOTION AND SALES MANAGEMENT - I
 115 (B) : Marketing Communication
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Time : 2½ Hours] [Max. Marks : 50
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to right indicate full marks.
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Q1) A) Fill in the blanks (Attempt any 5 out of 6) : [5]

a) Communication is sharing of ___________.

i) Ideas ii) Feelings

iii) Information iv) All of the above

b) Noise is an example of _______ barrier.

i) Environmental barrier ii) Social barrier

iii) Mechanical barrier iv) Language barrier

c) Marketing is an ongoing practice to capture _____ attention towards
a product or service.

i) Salesperson’s ii) Customers

iii) Manufacturer iv) Producer

d) Which communication follows the formal channels provided in the
organisation structure?

i) Natural ii) Artificial

iii) Formal iv) Informal

e) According to ______ principle, the communication must be in short
and brief.

i) Principle of Clarity ii) Principle of Conciseness

iii) Principle of Consideration iv) Principle of completeness

f) Communication process is __________.

i) A continuous process ii) A simple process

iii) One way process iv) Rigid process

P.T.O.
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B) Match the following: [5]

A B

a) Communication i) Evidence

b) Online Marketing ii) Sender

c) Language Barrier iii) Continuous process

d) Encoder iv) 24×7

e) Written Communication v) Unable to speak a common language

Q2) Short notes (any 2 out of 4): [10]

a) Importance of communication

b) Environmental Barriers

c) E-Marketing

d) Importance of Marketing

Q3) a) Explain the objectives of Marketing. [8]

OR

Explain the functions of Marketing.

b) Define Communication. Explain the elements of Communication. [7]

OR

Distinguish between Oral and Written Communication.

Q4) a) State and explain the importance Online Marketing. [8]

OR

Explain the barriers to Communication.

b) Explain the Process of Communication.

OR

Explain the importance of communication in Marketing. [7]





Q1) A) Choose Correct Option (Any Five) [5]

i) Article no. _______ defines the extent of territorial jurisdiction of
Parliament and State Legislatures.

a) 245 b) 265

c) 264 d) 290

ii) Assessment year is the period of 12 months commencing from
_________ every year.

a) 1st March b) 1st June

c) 1st April d) 1st July

iii) _________ canon states that only those taxes should be imposed
that do not hamper productive effort of the community.

a) Canon of Productivity b) Canon of Elasticity

c) Canon of Simplicity d) Canon of Diversity

iv) Tax on agricultural income, professional tax, value- added tax, state
excise duty, stamp duty is collected by ___________.

a) Local Bodies b) Central Government

c) State Government d) All of the above
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v) In India, Tax structure is of _________ tier.

a) Two b) Three

c) Four d) Five

vii) ___________ is a multi-stage destination-based tax.

a) Income Tax b) GST

c) Profession Tax d) Customs Duty

B) State the following sentence is TRUE or FALSE : [5]

i) Income Tax levied on a person in related to his income.of the
previous year.

ii) The Finance Act is passed every year by the Parliament in the form
of Budget.

iii) Canons of taxation means the characteristics or qualities which a
good tax system should possess.

iv) Article 240 read with Schedule VII of the Constitution, provides
for distribution of legislative powers.

v) The taxpayer liability is determined with reference to residential status
in indirect tax.

Q2) Write Short Notes : (Any Two) [10]

a) Finance Commission in India

b) Article No. 246

c) Characteristics of Taxation
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Q3) Answer the following : (Any Four) [20]

a) What are the Canons of taxation?

b) What are the benefits of taxation in India?

c) What is Direct Tax and Indirect Tax?

d) What are the objectives of taxation?

e) Explain the scope of taxation.

f) Future of taxation in India

Q4) Answer the following : (Any One) [10]

a) Explain the administrative set up of Indian Tax System.

b) Explain the Constitutional background of taxation in India





Q1) Explain briefly constants used in C. [5]

Q2) Explain the need of programming languages. [5]

Q3) Write a note on Machine Language. [5]

Q4) Explain scantf ( ) function with syntax and example. [5]

Q5) Write a C program to find multiplication of two numbers. [5]

Q6) Explain relational operators with example. [5]

Q7) Answer the following (Any Four): [20]

a) Explain int data type used in C.

b) Write a C program to calculate simple interest.

c) Explain Bitwise operators in C.

d) What is Computer Program? Explain.

e) Draw and explain basic symbols used in Flowcharts.

f) Write note on Assembly language.


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Q1) A) Fill in the blanks. [5]

i) The word 'advertising' has it's origin from __________ word.

a) French b) Latin

c) German d) Greek

ii) Advertisement of Polio dose is _________ type of advertisement.

a) Social b) Regional

c) Consumer d) National

iii) Direct mail advertising sends messages trough __________.

a) Audio b) Video

c) Newspaper d) Mail

iv) Which is NOT the main function of advertising?

a) To inform b) To persuade

c) To remind d) To measure effectiveness

v) Regular and frequent advertising helps to ensure __________.

a) More sale b) Steady demand

c) Better performance d) Control price
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B) Match the following : [5]
A B

i) Helps to launch new product 1) Functions of advertisement
ii) 'Save-girl Child' - ad 2) Type of appeals
iii) To inform, to persuade 3) Type of advertising
iv) Rational appeal 4) Advertisement
v) Local advertising 5) Social advertisement

Q2) Short Notes : (Any Two) [10]
a) Advantages of advertising to society.
b) Emotional appeals.
c) Functions of advertising.
d) Types of advertising.

Q3) a) Define the term 'Advertising' & explain scope of Advertising. [8]
OR

Explain functions of advertising in detail.

b) Explain advantages of advertising to manufactures. [7]
OR

Explain advantages of advertising to customers.

Q4) a) Write a detail note on 'Professional advertising'. [8]
OR

Write different types of advertising.

b) Write a detail note on "Emotional appeals". [7]
OR

What do you mean by appeals in advertising? Explain any four types of
appeals with suitable example.





Q1) Define the following Terms and Concepts: [14]
a) Appointed Day
b) Assessment
c) Continuous supply of goods
d) Fixed establishment
e) Input tax
f) Local authority
g) Location of the recipient of services

Q2) What do you mean by Goods and Services Tax? Explain the advantages of
Goods and Services Tax in detail. [12]

Q3) Explain the types of GST registration and documents required for GST
registration. [12]

Q4) What is GST Council? Explain the functions of GST Council in detail. [12]

Q5) Write short notes [12]
a) Rates of GST
b) Cancellation of Registration
c) Features of GST Council


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